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07th July 2024CTET Solved Paper

Child Development and Pedagogy

Directions: Answer the following questions (Q. 1 to 30) by 
selecting the correct/most appropriate option.
1.	 Learners feel engaged and actively involved in 

process of learning when:
(1)	 their prior knowledge is discarded and negated.
(2)	 activities are related to their context.
(3)	 focus of learning is repetition and memorisation.
(4)	 socio-emotional needs of learners are ignored.

2.	 Assertion (A): Teachers should provide emotional 
support to children in the classrooms to ensure 
effective learning.

	 Reason (R) : Emotions and cognition are related to 
each other in complex ways.

	 Choose the correct option
(1)	 Both (A) and (R) are false.
(2)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(4)	 (A) is true but (R) is false. 

3.	 Children with ‘learning difficulties’ typically:
(1)	 Have very low IQ as diagnosed through 

standard intelligence tests.
(2)	 Have difficulties in reading due their poor sight.
(3)	 Have problems in regulating their emotions.
(4)	 Have confusion with letter and alphabets that 

look alike.
4.	 Which of the following statements best describes the 

role of the teacher in progressive education?
(1)	 The teacher leaves the children on their own to 

work independently.
(2)	 The teacher is the primary source of knowledge.
(3)	 The teacher serves as a facilitator.
(4)	 The teacher implements the prescribed 

curriculum 'as it is'.
5.	 Which of the following is correct in the context of 

gifted children?
(1)	 Gifted students learn at a comparatively 

advanced pace than other students.
(2)	 Gifted children are free from risk of learning 

disability.
(3)	 Gifted children certainly excel in all areas 

academic, social and emotional.
(4)	 Gifted students are always happy, popular and 

well adjusted.
6.	 As per the Jean Piaget, pre-operational stage is 

characterised by abilities to perform:
(1)	 Symbolic play and animism.
(2)	 Classification and seriation.
(3)	 Conservation and abstract thinking.
(4)	 Imitation and reversibility.

7.	 What is the primary purpose of asking critical 
thinking questions?
(1)	 To encourage students to memorise information.
(2)	 To enable students to develop procedural 

knowledge.

(3)	 ‘To assess students’ knowledge and 
understanding skills.

(4)	 ‘To promote higher-level thinking and  problem 
solving skills.

8.	 Heredity totally determine an individual's 
A.	 Sex	 B.	 Gender
C.	 Academic Success	 D.	 Learning Style
(1)	 A, C, D	 (2)	 A
(3)	 B	 (4)	 A, C, D

9.	 Growth in height and weight of children in an 
example of:
(1)	 Change in cognitive domain.
(2)	 Quantitative change.
(3)	 Qualitative change.
(4)	 Change in affective domain.

10.	 According to Lev Vygotsky, children regulate their 
own behaviour through the
(1)	 Use of self-reinforcement
(2)	 Processes of adaptation
(3)	 Use of inner speech
(4)	 Process of equilibration

11.	 Which of the following statement about development 
is correct?
(1)	 Different aspects of development are 

independent to each other.
(2)	 Development is a discontinuous process.
(3)	 Development occurs in a spiral manner, not 

linear.
(4)	 Development proceeds from specific to general.

12.	 Which pedagogical approach would be adopted by 
teachers who firmly believe in constructive to teach 
concepts of floating and sinking to Class V children?
(1)	 Guided discovery
(2)	 Lecture method
(3)	 Showing videos
(4)	 Showing powerpoint presentation

13.	 Preconceived generalisations about behaviour of 
various gender are called:
(1)	 Gender typing	 (2)	 Gender stereotypes
(3)	 Gender discrimination(4)	 Gender identity

14.	 In an inclusive classroom:
(1)	 All children follow same curriculum and uniform 

pedagogy is adopted for all learners.
(2)	 ‘Special children’ always work on their own 

curriculum.
(3)	 All children have access to and are included in 

classroom activities.
(4)	 ‘Special’ children are looked upon as needy and 

dependent.
15.	 According to Lev Vygotsky's theory, which of the 

following is a recommended approach in order to 
optimise students’ learning experience? 
(1)	 providing students with work that they can 

manage and complete individually.
(2)	 providing students with work that is completely 

unrelated to their current level of  understanding.
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(3)	 providing students with work that is next 

beyond their current level of understanding, 
with appropriate support and guidance.

(4)	 providing no support to students and leaving 
them to struggle on their own.

16.	 When presented with Heinz's dilemma, Arunima 
reasons: "The law wasn't set up for these 
circumstances. Taking the drug in this situation isn’t 
really right, but it's justified."

	 Which stage of moral development is Arunima 
according to the theory of Lawrence Kohlberg?
(1)	 Instrumental purpose and exchange.
(2)	 'Social concern and conscience.
(3)	 Morality of contrast, of individual and of 

democratically.
(4)	 Orientation towards punishment and obedience 

to accepted law.
17.	 While talking about her poor marks in mathematics 

Avi says, “I just don’t have the sense for number Avi 
is attributing his performance to:
(1)	 Lack of ability	 (2)	 Luck
(3)	 Task difficulty	 (4)	 Lack of effort

18.	 Assertion(A): While some children start babbling 
and uttering two-word sentences at 12 months 
others don’t do this till they are 20 months old.

	 Reason(R): Development milestones are only 
suggestive and development of individual children 
can be quite varied.

	 Choose the correct option
(1)	 Both (A) and (R) are false. 
(2)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(4)	 (A) is true but (R) is false.

19.	 Which of the following is not a characteristic of a 
well-formulated critical thinking question?
(1)	 It promotes higher-level thinking and problem-

solving skills.
(2)	 It is open-ended and allows for multiple answers.
(3)	 It is based primarily on factual information.
(4)	 It requires analysis and evaluation of information.

20.	 Assertion (A): Teachers should constantly examine 
their own attitudes and biases while working with 
children.

	 Reason (R): The process of problem-solving is 
hindered by functional fixedness.

	 Choose the correct option.
(1)	 Both (A) and (R) are false. .
(2)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(4)	 (A) is true but (R) is false.

21.	 Assertion (A): Classroom pedagogy should be 
culturally responsive to meet the needs of students 
from diverse cultural backgrounds.

	 Reason (R): Equity in classroom can be ensured only 
through standardised curriculum and assessment.

	 Choose the correct option. 
(1)	 Both (A) and (R) are false. 
(2)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(4)	 (A) is true but (R) is false.

22.	 Howard Gardner's concept of Intelligence implies 
that:
(1)	 intelligence is only about ‘practical’ learning.
(2)	 everyone processes and understands the world 

in the same way.
(3)	 human beings differ in their abilities in different 

domains.
(4)	 intelligence has only one dimension. 

23.	 Which of the following is not an effective memory 
technique for meaningful learning?
(1)	 Elaborative Rehearsal
(2)	 Rote Rehearsal
(3)	 Mnemonics
(4)	 Concept Mapping

24.	 Which of the following sequence of representation 
of concept is in accordance with children gradual 
development of cognitive abilities?
(1)	 symbol-based, image-based, action-based
(2)	 action-based, image-based, symbol-based
(3)	 image-based, symbol-based, action-based
(4)	 symbol-based, action-based, image-based

25.	 Assertion (A): Teachers should focus on asking 
questions in classroom and encouraging children 
also to ask questions rather than giving instructions.

	 Reason (R): Child-centred pedagogy means giving 
opportunities to children’s voices and ensuring their 
participation.

	 Choose the correct option. 
(1)	 Both (A) and (R) are false. 
(2)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(4)	 (A) is true but (R) is false.

26.	 Jagriti has learned that her dog, Rusty, is a Golden 
Retriever. When she sees another dog that looks 
similar to Rusti but is a different breed, she 
calls  dog too. According to Jean Piage's theory of 
cognitive development, which concept does they  
demonstrate?
(1)	 Assimulation	 (2)	 Egocentrism
(3)	 Object permanence	 (4)	 Conservation

27.	 Feral children, those who experienced severe 
(human) social deprivation since a very young age 
usually has delayed or hindered development and 
despite rehabilitation, the improvement in certain 
domains of development is likely to be subordinate. 
This period wherein development is significantly  
influenced by environmental support is called _____.
(1)	 sensitive period	 (2)	 deductive period
(3)	 intuitive period	 (4)	 native period

28.	 Repetitive and ritualistic behaviour is an identifying 
characteristic of:
(1)	 Cerebral palsy
(2)	 Autism Spectrum Disorder
(3)	 Learning Disabilities
(4)	 Attention Deficit Hyperactivity Disorder

29.	 Which of the following would support continuous 
and comprehensive evaluation?
(1)	 Standardized intelligence test 
(2)	 Best works portfolio
(3)	 Growth and learning Progress portfolio
(4)	 Standardized achievement test

30.	 Which of the following is correct about the process 
of learning, according to socio-constructivist 
theories?
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(1)	 Learning is a social process of meaning making.
(2)	 Learning is an individualistic process that  occurs 

in isolation.
(3)	 Learning occurs only in a classroom or formal 

educational setting.
(4)	 Learning is a passive process that occurs solely 

through observation.

Mathematics

Directions: Answer the following questions by selecting the 
correct/most appropriate option.
31.	 12 thousand + 13 hundred + 2 tens is equal to:

(1)	 121320	 (2)	 12132	 (3)	 130132	 (4)	 13320
32.	 One crore is :

(1)	 hundred million	 (2)	 ten million
(3)	 one million	 (4)	 one billion

33.	 Which of the following is best suited to explain the 
concept of decimals?
(1)	 Number Chart	 (2)	 Lienes Blocks
(3)	 Taylor's Abacus	 (4)	 Graph Paper

34.	 Which of the following letters has no line of 
symmetry?
(1)	 X	 (2)	 L	 (3)	 A	 (4)	 M

35.	 In a certain week, the number of patients in a dental 
clinic was as follows:

Day Number of patients

Monday
Tuesday
Wednesday
Thursday
Friday
Saturday

25
38
45
18
36
39

	 Based on above table, choose the wrong statement:
(1)	 Total number of patients was 200.
(2)	 Range of the data is 27.
(3)	 On most of the days, number of patients was 

more than 30.
(4)	 Difference between the number of patients on 

Monday and Wednesday is 20.
36.	 If x : y = p : q, then which of the following is true?

A.	 x + y : y = p + q : q
B.	 x – y : y = p – q : q
C.	 x : p = y : q
D.	 x + y : x – y = p – q : p + q
(1)	 A, B and C	 (2)	 A and B
(3)	 only C	 (4)	 A and D

37.	 Which of the following Indian mathematicians are 
known as founders of 'numeric analysis'?
A.	 Ramanujan	 B.	 Bhaskaracharya
C.	 Varahmihir	 D.	 Aryabhatta
(1)	 A and D	 (2)	 A and C
(3)	 B and D	 (4)	 B and C

38.	 Which of the following statement(s) is/are true about 
numbers?
A.	 All positive integers are whole numbers.
B.	 All whole numbers are integers. 
C.	 All rational numbers are real numbers
D.	 All irrational numbers are real numbers.
	 Choose the correct option:
(1)	 A and D	 (2)	 Only B
(3)	 Only C	 (4)	 B, C and D

39.	 The main approach suggested by National 
Curriculum Framework (NCF) 2005 in teaching 
learning, of mathematics is : 
(1)	 Constructivism	 (2)	 Instructivism
(3)	 Pragmatism	 (4)	 Behaviourism

40.	 Student in a class are solving questions based on 
percentage discounts. One question requires the 
students to calculate the cost of two bikes, with a 8% 
discount on each bike. One of the groups calculates 
the total cost of the bikes and then deducts 16% from 
the total cost. The method used by this group is:
(1)	 False, since they have deducted 16% from the 

total instead of 16% from the average of the 
total.

(2)	 Correct and is the only way to calculate the 
discount and cost

(3)	 An alternate strategy to solve the question.
(4)	 False, since they have deducted 16% discount 

from the total instead of 8%. 
41.	 While teaching equations a teacher explains the 

concept of a linear equation having unique solution. 
She further asks, “If a solution is given then how 
many equations you can create”?

	 Choose the correct option :
(1)	 Two equations	 (2)	 One equation
(3)	 No equation	 (4)	 Many equations

42.	 Match the following pairs:

Column-I Column-II

(A)	 Face of a black-board (I)	 two end points

(B)	 A line has (II)	 one end point

(C)	 A ray has (III)	represents a part 
of a plane

(D)	 A line segment has (IV)	no definite length

	 Choose the correct option:
(1)	 A-I, B-III, C-IV, D-II	 (2)	 A-II, B-III, C-I, D-IV
(3)	 A-III, B-II, C-I, D-IV	 (4)	 A-III, B-IV, C-II, D-I

43.	 If (7 * 2) × (123) = 92496, then value of * is:
(1)	 5	 (2)	 2	 (3)	 1	 (4)	 4

44.	 Saumya joined her job on 13-01-1992 and she took 
retirement on 31-03-2023, Duration of service was :
(1)	 31 years 2 months and 18 days
(2)	 30 years 10 months and 19 days
(3)	 30 years 9 months and 18 days 
(4)	 31 years 2 months and 19 days

45.	 In order to identify individual differences of students 
in the mathematics class, which of the following, 
assessment technique will not be appropriate?
(1)	 Peer assessment.
(2)	 Summative assessment.
(3)	 Formative assessment.
(4)	 Diagnostic assessment.

46.	 Which among the following is/are true about 
the computation in basic operations for Grade-II 
learners?
A.	 It involves child’s ability to develop informal 

strategies.
B.	 It involves child’s ability to estimate.
C.	 It involves child's ability to do calculations with 

large numbers.
Choose the correct option:
(1)	 A and B	 (2)	 Only C
(3)	 B and C	 (4)	 A and C
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47.	 In a mathematics class, a teacher explains the concept 

of different angles. He/she realises that scissors is a 
best example to explain __________.
A.	 Vertically opposite angles 
B.	 Linear pair of angles
C.	 Corresponding angles
D.	 Alternate angles
Choose the correct option :
(1)	 B and C	 (2)	 A and B
(3)	 A and C	 (4)	 C and D

48.	 1233210 ÷ 5555 – 222 is equal to :
(1)	 3	 (2)	 1	 (3)	 0	 (4)	 2

49.	 Arrangement of fractions 1 1 3 12
, , ,

9 21 7 63
 in decreasing 

order is :

(1)	
1 12 3 1

, , ,
9 63 7 9

	 (2)	
3 1 12 1

, , ,
7 9 63 21

(3)	
3 12 1 1

, , ,
7 63 9 21

	 (4)	 12 3 1 1
, , ,

63 7 21 9

50.	 One egg has a mass of about 65 g, what is the mass 
of 2 dozen eggs?
(1)	 1 kg 544 g	 (2)	 1.56 kg
(3)	 1 kg 56 g	 (4)	 1.304 kg

51.	 Which of the following represents the features of a 
mathematics laboratory?
A.	 It is a place to enjoy mathematics through formal 

exploration. 
B.	 It provides opportunities to prove mathematical 

theorems through experiments.
C.	 It provides an oppurtunity to make conjectures, 

test them and generalise observed pattern.
D.	 It is used to assess students’ knowledge of 

mathematics and grade them accordingly.
Choose the correct option.
(1)	 B and C	 (2)	 A and D
(3)	 A and C	 (4)	 B and D

52.	 National Curriculum Framework For Foundational 
Stage (NCFFS), 2022 highlighted the importance 
of the following components while teaching an 
abstract mathematical concept:
A.	 Written Symbols	 B.	 Experience
C.	 Spoken Language	 D.	 Picture
	 Which of the following is the appropriate 

sequence of these components while teaching 
an abstract mathematical concept?

(1)	 B, C, D, A	 (2)	 C, A, D, B
(3)	 B, C, A, D	 (4)	 C, D, A, B

53.	 Raju has turpentine oil in 5 containers each of 20 L 
size. He fills them in 10 cans of 5 L, 2 L and rest in 
1 L cans. Number of 1 L cans filled is :
(1)	 28	 (2)	 28	 (3)	 30	 (4)	 22

54.	 Which of the following learning experiences 
for children does not reflect the contribution of 
mathematics to everyday life and society?
(1)	 Play small group games that draw on 

mathematical skills and concepts.
(2)	 Communication of mathematical ideas in writing 

using both formal and informal language.
(3)	 Meeting people from different areas of 

employment and exploring how they use 
mathematics in their work. 

(4)	 Collecting, organising, representing and 
interpreting data in day-to-day life.

55.	 22 hm 8 dam is equal to :
(1)	 22080 m	 (2)	 22800 m
(3)	 2208 m	 (4)	 2280 m

56.	 A mathematics teacher discusses the concept 
of open and closed curves in class. For the best 
understanding of students she gave an example 
with four points. If the curve is open, then four 
points is :
(1)	 Three of them must be non-collinear 
(2)	 All are collinear 
(3)	 Two of them must be collinear 
(4)	 Three of them must be collinear

57.	 Two angles of a triangle are 50° and 30°, Then, the 
third angle of the triangle is:
(1)	 80°	 (2)	 100°	 (3)	 40°	 (4)	 60°

58.	 Which of the following are correct examples of the 
statement “mathematics is hierarchical in levels that 
are logically Structured”, 
A.	 The Concept of integers needs to be developed 

before the concept of multiplication and division 
of numbers.

B.	 Multiplication follows and builds on the concept 
of addition.

C.	 Number sense needs to be developed before the 
concepts of addition and subtraction.

Choose the correct option: 
(1)	 only B	 (2)	 A and B
(3)	 B and C	 (4)	 A and C

59.	 The difference between the greatest and smallest 
6-digit numbers formed by using the digits 5, 1, 0, 3, 
9 and 6 is: 
(1)	 851731	 (2)	 861741
(3)	 862731	 (4)	 951741

60.	 The missing number (?) in the following:
	 43, 47, 53, 59,      ?      , 67, 71, 73 is :

(1)	 65	 (2)	 61	 (3)	 60	 (4)	 63

Environmental Studies

Directions: Answer the following questions by selecting the 
correct/most appropriate option.
61.	 Consider the following statements (A) and (B).
	 Statement (A): Crows build nests on very low 

branches on a tree.
	 Statement (B): A weaver bird stitches two leaves to 

make its nest.
	 Select the correct code from the following:

(1)	 (A) is wrong but (B) is correct 
(2)	 (A) and (B) both are correct.
(3)	 (A) and (B) both are wrong. 
(4)	 (A) is correct but (B) is wrong

62.	 EVS at the primary level is recommended to be 
transacted in an integrated approach. The more 
appropriate reasons are:
A.	 EVS draws issues from subjects like Science, 

Social Science and Environmental Education.
B.	 It helps in developing a holistic understanding.
C.	 It helps to reduce the burden of students and 

teachers.
D.	 It is convenient to teach integrated EVS.
(1)	 A and D	 (2)	 C and D
(3)	 B and C	 (4)	 A and B

63.	 Select an incorrect statement about elephant herds 
from the following :
(1)	 Male elephants of more than 15 years of age 

leave the herd and move around alone.
(2)	 Female elephants live in herds.
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(3)	 A herd has 20 to 25 female elephants and their 

young ones.
(4) 	Male elephants live in the herd till they are 14 - 

15 years old.
64.	 You are located at X and your school is located at Y. 

There is no straight path from your house to your 
school. So you first go to A which is about 125 m due 
north of X, then go to B which is 75 m due west of 
A, then go to C which is about 150 m due north of 
B and finally reach your school at Y which is 75 m 
due east of C. With respect to your school at Y, the 
correct direction of the house at X is :
(1)	 Southeast	 (2)	 Due North
(3)	 Due South	 (4)	 Northwest

65.	 There is a species ‘X’ of plants that grow in a huge 
number but is found only in ‘Y’ part of India the 
whole world. Which type of species is it ?
(1)	 Endangered 	 (2)	 Abundant
(3)	 Exotic 	 (4)	 Endemic

66.	 Select from the following a group consisting of alloys 
only :
(1)	 Steel, Brass, Bronze 
(2)	 Brass, Bronze, Lithium
(3)	 Magnesium, Aluminium, Steel 
(4)	 Steel, Brass, Tin

67.	 An EVS teacher asks her students to imagine and 
answer, “What would have happened if all be were 
killed at once from earth ?” Such a question is :
(1)	 Philosophical question
(2)	 Convergent question
(3) Hypothetical question 
(4)	 Divergent question

68.	 It is 7.30 p.m., in India today. It is 2 p.m. of the same 
day:
(1)	 in Karachi	 (2)	 in London
(3)	 in Japan	 (4)	 in Dhaka

69.	 Which of the following strategies promotes inquiry 
while teaching the theme ‘Travel’ ?
(1)	 Showing pictures of various places of interest in 

nearby areas.
(2)	 Asking students to collect pictures of various 

means of transport.
(3)	 Asking students to narrate their or their 

neighbours’ experiences of travelling,
(4)	 Asking students to make a digital presentation 

on vintage cars.
70.	 A teacher follows the following methods while 

teaching EVS: Think-Pair-Share, Reciprocal Peer 
Tutoring; Jigsaw Strategy and Peer Reviews. These 
are examples of:
(1)	 Inductive approach 
(2)	 Peer group learning
(3)	 Constructivist approach
(4)	 Didactic approach

71.	 Saleem and Raju are young schoolgoers. Saleem 
likes to eat a lot of fried food and 'maida' products 
Raju on the other hand eats homemade healthy 
food but he never eats spinach and other green leafy 
vegetables. Which of the following disorders they 
are likely to suffer from, respectively?
(1)	 Pellagra and Anemia 
(2)	 Scurvy and Anemia
(3)	 Kwashiorkar and Anemia
(4)	 Obesity and Anemia

72.	 Map Reading activity in EVS classes develops certain 
abilities and skills in primary students. Those are :

A.	 Understanding relative positions of places
B.	 Understanding directions of places
C.	 Understanding symbols and scale
D.	 Drawing precisely according to the scale maps
(1)	 B, C and (D)	 (2)	 A, B and C
(3)	 B, C and D	 (4)	 A, C and D

73.	 With respect to Telangana, the respective locations of 
Gujarat and Bihar are:
(1)	 Northeast; Northwest	(2)	 Northwest; Southeast 
(3)	 Southwest; Northeast	 (4)	 Northeast; Northwest

74.	 Which of the following best reflects experiential 
strategies in teaching EVS at the primary level?
A.	 Discussion	 B.	 Demonstration
C.	 Field Trips	 d.	 Art integrated learning
(1)	 A, B and C	 (2)	 A, B and D
(3)	 B, C and D	 (4)	 A, C and D

75.	 Environment in EVS means :
A.	 Man-made environment 
B.	 Natural environment 
C.	 Social environment 
D.	 Cultural environment
(1)	 A, B and D	 (2)	 A and B
(3)	 B and C	 (4)	 A and C

76.	 Read the Assertion (A) and Reason (R) below and 
choose the correct option.

	 Assertion (A) : Travellers like Al-Biruni and Ibn 
Batuta travelled from India to different countries.

	 Reason (R): Travelling led to sharing of ideas 
between people.
(1)	 (A) is false but (R) is true.
(2) 	Both (A) and (R) are true and (R) explains (A).
(3)	 Both (A) and (R) are true but (R) does not explain 

(A).
(4)	 (A) is true but (R) is false.

77.	 Statement I: The EVS curriculum is framed within 
the social constructivist perspective of learning

	 Statement II: Piaget's ideas about children’s learning, 
with his in-depth study of children, represent the 
social constructivist perspective,
(1)	 Statement I is false but Statement II is true 
(2)	 Both the Statement I and Statement II are correct
(3)	 Both the Statement I and Statement II are false
(4)	 Statement I is true but Statement II is false

78.	 In NCERT textbook of Class V, there is a real story 
of Suryamani who lives in Jharkhand. The chapter 
depicts tribal life and the role of Suryamani. Select 
the most important aspects addressed by the chapter 
relevant for students.
A.	 Popular perceptions and biases about tribal 

communities.
B.	 Close relationship between forest dwellers 

(communities) and forests.
C.	 Girl's education and how it changes their life.
D.	 The forest products used by tribes.
(1)	 B and C	 (2)	 A, B and C
(3)	 B, C and D	 (4)	 A, C and D

79.	 “Record how the seeds germinate into saplings from 
day 1 to day 10". Rita gave this task to her students 
before teaching the lesson on 'Germination'. She is 
trying to assess her students’ ability to:

	 A.	 draw and represent.
	 B.	 predict how germinating seeds would look like.
	 C.	 observe and record.
	 D.	 infer from the given activity.

(1)	 A, B, and C	 (2)	 A and B
(3)	 B and C	 (4)	 B, C and D
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80.	 Mountaineers suffer nose bleeding at higher 

altitudes because:
(1)	 Blood becomes thick at higher altitudes.
(2)	 The pressure in blood vessels exceeds outside 

pressure.
(3)	 The pressure in blood vessels decreases than 

outside pressure.
(4)	 The pressure in blood vessels equals the outside 

pressure.
81.	 Which one/are of the following mountains is/are 

considered to be volcanic in origin?
A.	 Mt. Kilimanjaro	 B.	 Fujiyama
C.	 The Alps
Choose the correct option:
(1)	 A and B	 (2)	 A and C
(3)	 B and C	 (4)	 Only C

82.	 Roshni, an EVS teacher displays a data chart for how 
many seeds out of 20 seeds each of mustard green 
gram, Bengal gram and chilli seeds germinated. 
She asks students to explain why variates in the 
germination rates of different seeds occur. She wants 
to assess the skills of:
(1)	 investigation	 (2)	 experiment
(3)	 prediction	 (4)	 drawing inference

83.	 Assertion: Stories and  narratives have been used 
throughout the EVS textbooks. :

	 Reason: The objective is  to sensitise the child so that 
he or she can empathise with characters in a story 
of narrative. Textbooks should sensitise the child to 
wide differences that exist within our Society.
(1)	 The Assertion is false but Reason is true.
(2)	 Both the Assertion and Reason are correct and 

Reason is the correct explanation of the Assertion.
(3)	 Both the Assertion and Reason are correct but 

the Reason is not the correct explanation of the 
Assertion.

(4)	 Assertion is true but the Reason is false.
84.	 On a Union Territory map, on one corner the 

following scale is mentioned.
	 Scale, 1 cm=155 m 
	 If a person measures the distance between two cities 

as 19.7 cm, the actual distance between two cities is 
approximately:
(1)	 30.5 km	 (2)	 3.10 km
(3)	 31.00 km	 (4)	 3.05 km

85.	 The volume of the earth consists of the following:
A.	 1% Crust	 B.	 84% Mantle
C.	 15% Core
Choose the correct option from the following:
(1)	 All A, B and C are correct
(2)	 Only A and B are correct.
(3)	 Only B and C are correct
(4)	 Only A and C are correct.

86.	 Read the following Assertion (A) and Reason (R) and 
choose the correct option.

	 Assertion (A): People can easily float on the surface 
of water of the Dead Sea even if they do not know 
how to swim.

	 Reason (R): Dead Sea has 300 gm of salt in one 
litre of water making it, the sea has a high salt 
concentration.
(1)	 (A) is false but (R) is true.
(2)	 Both (A) and (R) are true and (R) explains (A).
(3)	 Both (A) and (R) are true but (R) does not explain 

(A). 
(4)	 (A) is true but (R) is false

87.	 As an EVS teacher, you wish your students to be 
aware of their own safety around adults so they 
(can take care of themselves and) do not fall prey to 
sexual harassment. Which step is most appropriate?
(1)	 Hold self-defence workshops for girl students.
(2)	 Teach them about POCSO Act, 2012.
(3)	 Teach them to avoid strangers.
(4)	 Hold workshops about ‘Good Touch’ and “Bad 

Touch’.
88.	 Select the group of poor conductors of heat from the 

following:
(1)	 Wool, Plastic, Wood	 (2)	 Wool, Wood, Iron
(3)	 Air, Water, Copper	 (4)	 Air, Wool, Aluminium

89.	 Samar asks his students to consult their family 
members to find out the names of different food  
items cooked by different methods like steaming, 
roasting, boiling, frying etc. The most appropriate 
reason for this activity is to: 
(1)	 encourage homework.
(2)	 encourage experimentation.
(3)	 improve social interaction.
(4)	 provide opportunities for children to work in 

groups.
90.	 Select the maximum number of suitable tools of 

assessment to assess process skills in EVS.
A.	 Teacher diary 	 B.	 Project work
C.	 Drawing diagrams 	 D.	 Picture reading
(1)	 A, B and D	 (2)	 A, B and C
(3)	 B, C and D	 (4)	 A, C and D

Language-I : English

Directions (Q. Nos. 91 to 99): Read the given passage 
below and answer the questions that follow: 
	 He must have seen us coming from the same 
distance. By the time he loomed up in front headlights, 
the arms in the snow-caked overcoat were flailing 
desperately like windmills.
	 Pat gave a little gasp and I braked at once, though 
gently, or I might have followed his car in ditch. But 
immediately I had second thoughts; there had been one 
or two nasty cases of hold-up papers recently. I wasn't 
going to take any chance with Pat, my sister, there. I 
changed down the gear and made to drive round him.
	 Pat was horrified. ‘Aren't you stopping, Bill?' I shook 
my head. 'Too risky'.
	 It 	 was then that I saw the car. It had skidded right 
across the road and was its hanging nose in deep ditch. I 
braked again and brought the Mini-Moris gradually to a 
stop. 
	 I slid back my window as he looked in and then I 
saw that he was bleeding from a cut in his cheek.
	 ‘Anybody else in the car ?’
	 ‘No, on my own. If you could give me a lift’.
	 I nodded and he got into the back and slammed the 
door.
	 ‘Sorry about this, folks. I was beginning to think I 
was stuck there for the night. Not that you world call it a 
busy road, is it ?'
	 'Not at twelve o'clock at night', Pat said turning 
round to smile at him. 'We have been to a dance in Boling 
ford. Bill didn’t want to go, but I was keen. He isn’t a bad 
brother, really.
91.	 Pat gave a little gasp and I braked at once
	 The underlined is a/an _______
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(1)	 Interjection	 (2)	 Pronoun
(3)	 Preposition	 (4)	 Conjunction

92.	 Which of the following statements is not correct?
	 After slowing down the car, Bill hesitated as :

(1)	 in the cold, the car may not start again.
(2)	 it was a dark spot, so it might be a case of robbery.
(3)	 only Pat, a woman was sitting beside him
(4)	 both (2) and (3) 

93.	 Study the following statements: 
A.	 Pat is bold and compassionate.
B.	 Bill is protective of Pat and not timid.
C.	 A badly hit car was parked by the sidewalk.
(1) 	B and C are right but A is wrong.
(2)	 A is right but B and C are wrong.
(3) 	B is right but A and C are wrong.
(4) A and B are right but C is wrong

94.	 ....... he loomed up in front of ......
	 The underlined phrase means the same as :

(1)	 looked up	 (2)	 fell down
(3)	 appeared	 (4)	 drove up

95.	 Bill was travelling with:
(1)	 a stranger	 (2)	 his brother
(3)	 his sister	 (4)	 a friend

96.	 Which of the following statements is/are correct ?
(1)	 It was the dead of night, so Bill was feeling 

drowsy while driving.
(2)	 There was snowfall, and a ditch along the road 

so Bill was driving very carefully.
(3)	 Because of snow, he was driving very slowly.
(4)	 It was nighttime, so there was no traffic on the 

road, so Bill was driving in a carefree manner.
97.	 Which of the following statements is/are right?

A.	 The stranger did not seem to be badly hurt.
B.	 Mini-Moris went past the stranger and then 

stopped
(1)	 Both A and B are right
(2)	 A is right and B is wrong
(3)	 B is right and A is wrong
(4)	 Neither A nor B is right

98.	 It was then that I saw the car.
	 Identify the underlined clause.

(1)	 Adverb	 (2)	 Principal
(3)	 Noun	 (4)	 Adjective

99.	 '.......... brought the Mini-Moris gradually to a stop'.
(1)	 mainly	 (2)	 generally
(3)	 usually	 (4)	 suddenly

Directions (Q. Nos. 100 to 105): Read the extract given 
below and answer the questions that follow:
	 ‘What dost thou do here ?’ the Bishop he said
	 ‘I prythee now tell to me’,
	 ‘I am a bold harper’, quoth Robin Hood,
	 “And the best in the north countree’.

	 ‘O welcome, O welcome!’ the Bishop said,
	 ’That music best pleaseth me.’
	 ’You shall have no music’, quoth Robin Hood,
	 ’Till the bride and the bridegroom I see’. 

	 With that came in a wealthy knight,
	 Which was both grave and old,
	 And after him a finikin lass,
	 Did shine like glistening gold.

	 ’This is no fit match’, quoth bold Robin Hood,
	 ’That you do seem to make here; 
	 ‘For since we are come into the church, 
	 The bride she shall choose her own dear’. 

100.	‘I prith now....'
	 The expression means :

(1)	 I order you	 (2)	 I prevent you
(3)	 I warm you	 (4)	 I request you

101.	Robin Hood met the Bishop 
(1)	 in the market 	 (2)	 in the churchyard
(3)	 in the church 	 (4)	 at his residence

102.	Which literary device has been used in the expression 
- ‘Did shine like glistening gold’?
(1)	 Hyperbole 	 (2)	 Simile 
(3)	 Metaphor 	 (4)	 Personification

103.	Study the following statements 
A.	 The Bishop asked Robin Hood the purpose of his 

visit.
B.	 Robin Hood pretended to be a musician.
(1)	 Both A and B are wrong. 
(2)	 A is right and B is wrong.
(3)	 B is right and A is wrong.
(4)	 Both A and B are right.

104.	Which one of the following statement is incorrect?
(1)	 She was not eagerly waiting for the ceremony.
(2)	 The bridegroom was rich and handsome.
(3)	 He was old and dull looking.
(4)	 The bride was young and beautiful. 

105.	What was going to take place in the church ?
(1)	 a funeral	 (2)	 a wedding
(3)	 a Sunday sermon	 (4)	 a baptism

106.	You are a Hindi speaking teacher, but you get posted 
at a primary school which is in the area of Punjab. 
Since you do not know the language of that area, 
you should:
(1)	 motivate the community to learn Hindi.
(2)	 immediately apply for the transfer to a Hindi 

speaking area
(3)	 use the child's language as a resource and start 

teaching
(4)	 communicate in English

107.	A child does not write a paragraph on her own even 
brainstorming the topic. However, she is able to 
write it under adult or peer guidance, ‘This guidance 
is called _______.
(1)	 Team teaching	 (2)	 Scaffolding
(3)	 Peer teaching	 (4)	 Peer counselling

108.	Language acquisition occurs only when the ______.
(1)	 child has exposure to the language
(2)	 child is taught the rules of grammar
(3)	 child is given practice in translation
(4)	 child is given an opportunity to read

109.	Which one of the following is a correct statement 
about a textbook?
(1)	 A textbook is irreplaceable.
(2)	 A textbook is the final thing for the teacher and 

the student.
(3)	 It helps to achieve the objectives laid down in 

the curriculum.
(4)	 It is a planning of educational activities for the 

session.
110.	As a teacher of Class V you ask the students to read 

the text thoroughly. Then you ask them to answer 
the questions with reference to the context (RTC). In 
this process, you are encouraging students for ____.
(1)	 intensive reading	 (2)	 extensive reading
(3)	 scanning	 (4)	 skimming

111.	_____ comprehension is the skill of reading a piece of 
text closely or intensely for the purpose of extracting 
specific information from the text.
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(1)	 Evaluative	 (2)	 Global
(3)	 Local	 (4)	 Inferential

112.	Deductive approach of teaching grammar advocates 
that, we should ________ first.
(1)	 provide practice through drills
(2)	 present examples
(3)	 present rules
(4)	 present genuine communication

113.	_____ is a way of estimating or guessing beyond the 
facts.
(1)	 Extrapolation	 (2)	 Explanation
(3)	 Analysis	 (4)	 Inference

114.	Excluding mother tongue in the classroom is the 
characteristic feature of the ______ method.
(1)	 Direct	 (2)	 Natural
(3)	 Bilingual	 (4)	 Audio-lingual

115.	You, as a teacher, appreciate a child for her ’overall 
use,’ though some of the words are misspelt by her. 
You are here using ______ approach in your class.
(1)	 Structural	 (2)	 Whole language
(3)	 Communicative	 (4)	 Constructivist

116.	A language teacher must promote learners for free 
writing, as the key benefit of free writing that:
(1)	 can incorporate features of written language 

from their first language.
(2)	 it encourages learners to write fluently and 

creatively.
(3)	 gives the freedom to write or not.
(4)	 does not make them feel that they have to write 

much or be totally accurate
117.	_______ is a type of learning in which a child has 

to use higher-order mental processes such as 
intelligence or reasoning.
(1)	 Structure learning	 (2)	 Verbal learning
(3)	 Concept learning 	 (4)	 Motor skills learning

118.	Which of the following classroom practices helps a 
teacher to develop oral language among students ?
(1)	 Practicing the correct pronunciation of new or 

unfamiliar words.
(2)	 Chorus reading of the text with the teacher.
(3)	 Chorus recitation of the poem after memorising 

it.
(4)	 Participating in role-plays.

119.	When we say ‘Language is arbitrary’, we mean to 
say that :
(1)	 language follows prefixed principles.
(2)	 there is an inherent relation between the words 

of a language and their meaning.
(3)	 the relation between words and their meaning is 

based on a valid reason and not on chance.
(4) 	there is no inherent relation between the words 

of a language and their meaning.
120.	The purpose of diagnostic tests in language learning 

is to :
(1)	 Use the findings in the progress report of 

students.
(2)	 Plan and prepare questions for summative 

assessment.
(3)	 Inform the parents in the PTMs and ask them to 

pay attention.
(4)	 Know the gaps in the learner's understanding 

and take remedial steps.

Language-I : Hindi

funsZ'k% fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa (ç- la- 91 ls 99) 
ds lgh@lokZf/kd mi;qDr fodYi dk p;u dhft,A

	 v/;kRe Hkh eu dk jktk gksus dk ekxZ [kksyrk gSA vius eu dk 
jktk gksuk eryc eu ij Lo;a dk vadq'k j[kukA mldh pky dk fu/
kkZj.k djuk] viuk y{; cukuk] y{; izkIr djus ds fy, iz;Ru djukA 
v/;kRe vkidks vius eu dk jktk cuus dh vksj ys tkrk gSA ;g fLFkfr 
vkidks fodkjksa ls nwj j[krh gS] oSpkfjd lqanjrk dk ojnku nsrh gS vkSj 
cqjkbZ ds le{k detÛksj gksus ls cpkrh gSA izÏfr ls migkj esa tks thou 
feyk gS] mlds ewY; dks le>uk pkfg, vkSj ml {ks= dk jktk cuus ds 
ekxZ ij pyuk pkfg,] ftl ij ekuork dk foLrkj gksA
	 jktk cfu, ysfdu 'kq¼ fopkjksa] vPNs deks± vkSj ekuoh; laosnuk 
dk jktk cfu,A vU;k;] v/keZ vkfn ds Hk; ls Hk;Hkhr u gksa vkSj ,d 
,slh lÙkk cuk,¡] ftlesa lekurk gksA tks Lo;a esa jktk gksdj lekurk dk 
ekxZ iz'kLr djrk gS] og v/;kRe ds {ks= dk Hkh jktk cu tkrk gSA
91.	 jktk dk vfuok;Z xq.k ugha gS&

(1)	 fuHkZ;rk	 (2)	 ekuoh; laosnuk
(3)	 vPNs deZ	 (4)	 /keZHkh: gksuk

92.	 vius eu dk jktk gksus ls rkRi;Z gS&
(1)	 vius thou ij vadq'k yxkuk
(2)	 nwljksa ij vadq'k yxkuk
(3)	 vius y{; ds fy, lÙkk gM+iuk
(4)	 eu dks fu;af=r djuk

93.	 jktk ds fdu xq.kksa dh ppkZ x|ka'k esa dh xbZ gS\
(1)	 lerk] lekurk	 (2)	 'kq¼ fopkj] vadq'k yxkuk
(3)	 vPNs dk;Z] nku djuk	 (4)	 'kq¼ fopkj] vPNs deZ

94.	 ^v/;kRe* 'kCn esa -------- izR;; dk iz;ksx fd;k tk ldrk gSA
(1)	 bZ	 (2)	 bZ;
(3)	 bd	 (4)	 rk

95.	 jktk cuus ds fy, --------------- dh jkg ij vxzlj gksuk gksxkA
(1)	 dY;k.k	 (2)	 izxfr
(3)	 v/;kRe	 (4)	 lR;

96.	 vk/;kfRed gksus dk vFkZ gS&
(1)	 fopkjksa dh lqanjrk	 (2)	 oSpkfjd izcq¼rk
(3)	 nwljksa ij n;k djuk	 (4)	 'kkjhfjd lqanjrk

97.	 x|ka'k ds vuqlkj thou esa ------------ dk cgqr egÙo gSA
(1)	 jktk	 (2)	 foLrkj
(3)	 y{;	 (4)	 vadq'k

98.	 ,d jktk dks ---------- vkSj ------------ ls ugha Mjuk pkfg,A
(1)	 vU;k;] v/keZ
(2)	 vlekurk] lerk
(3)	 oSpkfjd lqanjrk] y{;&fuekZ.k
(4)	 v/;kRe] vU;k;

99.	 fo'ks"k.k&fo'ks"; dk mnkgj.k ugha gS%
(1)	 y{;&fuekZ.k	 (2)	 oSpkfjd lqanjrk
(3)	 vPNs deZ	 (4)	 ekuoh; laosnuk

funsZ'k % uhps nh xbZ dfork ds i<+dj (iz- la- 100&105) ds lcls 
mfpr fodYi dk p;u dhft,A
	 xka/kh] fryd] lqHkk"k] tokgj dk I;kjk ;g ns'k gS]
	 ft;ks vkSj thus nks dk lcdks nsrk lans'k gSA
	 izgjh cudj [kM+k fgeky; ftlds mÙkj }kj ij]
	 fgan egklkxj nf{k.k esa blds fy, fo'ks"k gSA
		  yxh xwatus nlksa fn'kk,¡ ohjksa ds ;'kxku ls]
	 gesa feyh vktÛknh ohj 'kghnksa ds cfynku lsA
100.	^fgeky;* dk laf/k&foPNsn gS&

(1)	 fgek $ vy;	 (2)	 fgek $ y;
(3)	 fge $ vky;	 (4)	 fge $ vy;
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101.	dfork esa fdu egkiq#"k dk mYys[k fd;k x;k gS\
(1)	 lq[knso	 (2)	 panz'ks[kj vktÛkn
(3)	 egkRek xka/kh	 (4)	 jktxq#

102.	^ohj* dk cgqopu :i gS&
(1)	ohjkaxuk	 (2)	 ohjksa	 (3)	ohj	 (4)	ohjk¡

103.	Hkkjr ns'k dh D;k fo'ks"krk gS\
(1)	 mÙkj esa lqanj okfn;k¡ gSaA	 (2)	 mÙkj esa izgjh [kM+s gSaA
(3)	 nf{k.k esa vjc lkxj gSA	 (4)	 nf{k.k esa fgan egklkxj gSA

104.	dfork esa fdu ohjksa ds ;'kxku dh ckr dh xbZ gS\
(1)	 ftUgksaus nlksa fn'kkvksa dk Hkze.k fd;k
(2)	 ftUgksaus 'kkafr&;k=k dk 'kqHkkjaHk fd;k
(3)	 ftUgksaus ns'k dh Lora=rk ds fy, thou fn;k
(4)	 ftUgksaus nwljksa ds lq[k dh izkFkZuk dh

105.	dfork esa fdl lans'k dh ckr dh xbZ gS\
(1)	 ft;ks vkSj thus nks	 (2)	 lq[k ls thou ft;ks
(3)	 nwljksa dks thus nks	 (4)	 nq%[kksa ls ?kcjkuk ugha

106.	vki fganh Hkk"kk v/;kid gSa vkSj vkidh fu;qfDr iatkc ds fdlh 
izkFkfed fo|ky; esa gksrh gSA vc pw¡fd vki LFkkuh; Hkk"kk ugha 
tkurs gSa rks vkidks D;k djuk pkfg,\
(1)	 leqnk; dks fgUnh lh[kus ds fy, izsfjr djuk pkfg,A
(2)	 fdlh fganh Hkk"kk {ks= esa LFkkukarj.k ds fy, vkosnu dj nsuk 

pkfg,A
(3)	 cPpksa dh Hkk"kk dks ,d lalk/ku ds :i esa bLrseky djuk 

pkfg, vkSj f'k{k.k vkjaHk djuk pkfg,A
(4)	 vaxzstÛh esa lEizs"k.k djuk pkfg,A

107.	fdlh VkWfid ij ekul eaFku djus ds ckn Hkh ,d ckfydk vius 
vki ls vuqPNsn ugha fy[k ik jgh gSA gkyk¡fd og o;Ld ;k 
lgikBh ds ekxZn'kZu esa fy[k ysrh gSA bl izdkj ds ekxZn'kZu dks 
D;k dgsaxs\
(1)	 Vhe f'k{k.k	 (2)	 enn (LdkQksfYMax)
(3)	 lgikBh f'k{k.k	 (4)	 lgikBh ijke'kZ

108.	Hkk"kk vtZu dsoy rHkh ?kfVr gksrk gS tc ---------------A
(1)	 cPpksa dks Hkk"kk dk ifjos'k (,DlikstÛj) fn;k tk,A
(2)	 cPpksa dks O;kdj.k ds fu;e fl[kk, tk,¡A
(3)	 cPpksa dks vuqokn djus dk vH;kl djok;k tk,A
(4)	 cPpksa dks iBu ds volj fn, tk,¡A

109.	fuEufyf[kr esa ls dkSu&lk dFku ikB;iqLrd ds ckjs esa lgh gS\
(1)	 ikB~;iqLrd dk LFkku dksbZ nwljk ugha ys ldrkA
(2)	 ikB~;iqLrd v/;kid vkSj fo|kFkhZ ds fy, ,dek= 

egÙoiw.kZ lkexzh gSA
(3)	 ;g ikB~;p;kZ esa mfYyf[kr mís';ksa dks izkIr djus esa enn 

djrh gSA
(4)	 ;s l= ds fy, 'kSf{kd xfrfof/k;ksa dh ;kstuk gSA

110.	vki d{kk ik¡p ds v/;kid gSaA vkius fo|kfFkZ;ksa dks ikB~; lkexzh 
vPNh rjg ls i<+us ds fy, dgk gSA mlds ckn vki lanHkZ vkSj 
izlax dks /;ku esa j[krs gq, iz'uksa ds mÙkj nsus ds fy, dgrs gSaA 
bl izfØ;k ds }kjk vki fo|kfFkZ;ksa dks fdl rjg ds iBu ds fy, 
izksRlkfgr dj jgs gSa\
(1)	 xgu iBu	 (2)	 foLr`r iBu
(3)	 ckjhdh ls iBu	 (4)	 ljljh rkSj ij iBu

111.	fdlh ikB~; lkexzh ls fof'k"V lwpuk fudkyus ds mís'; ls 
xguiwoZd ;k xgjkbZ ls ml ikB~; lkexzh dks i<+us dk dkS'ky ----
----- cks/k gSA

(1)	 ewY;kadu ijd	 (2)	 oSf'od
(3)	 LFkkuh;	 (4)	 fu"d"kkZRed

112.	O;kid i<+kus dk fuxeukRed mikxe vuq'kalk djrk gS fd gesa 
lcls igys -------------A
(1)	 fMªy ds ek/;e ls vH;kl djokuk pkfg,A
(2)	 mnkgj.k izLrqr djus pkfg,A
(3)	 fu;e izLrqr djus pkfg,A
(4)	 okLrfod lEizs"k.k izLrqr djuk pkfg,A

113.	------------- rF;ksa ls dgha vkxs tkdj vuqeku yxkus dk rjhdk gSA
(1)	 ikB~;lkexzh dk foLrkj (,DLVªkiksys'ku)
(2)	 O;k[;k djuk
(3)	 fo'ys"k.k djuk
(4)	 fu"d"kZ fudkyuk

114.	d{kk esa ekr`Hkk"kk dks LFkku u nsuk fdl fof/k dh fo'ks"krk gS\
(1)	 izR;{k (Mk;jsDV)	 (2)	 izkd`frd
(3)	 f} Hkkf"kd	 (4)	 JO; Hkkf"kd

115.	,d v/;kid gksus ds ukrs vki ,d cPps dh mlds ^dqy Hkk"kk 
iz;ksx* ds fy, iz'kalk djrs gSaA ;|fi mlus dqN 'kCnksa dh orZuh 
xyr fy[kh gSA vki d{kk esa fdl mikxe dk iz;ksx dj jgs gSa\
(1)	 lajpukRed	 (2)	 lexz Hkk"kk
(3)	 lEizs"k.kkRed	 (4)	 jpukoknh

116.	,d Hkk"kk v/;kid dks pkfg, fd og f'k{kkfFkZ;ksa dks LoPNUn 
ys[ku ds fy, izksRlkfgr djsa D;ksafd LoPNUn ys[ku dk f'k{kkfFkZ;ksa 
ds fy, ykHk gS%
(1)	 f'k{kkFkhZ viuh izFke Hkk"kk ds fyf[kr Lo:i ds xq.k/keZ 

lekosf'kr dj ldrs gSaA
(2)	 ;g f'k{kkfFkZ;ksa dks izokg ds lkFk vkSj jpukRed rjhds ls 

fy[kus ds fy, izksRlkfgr djrk gSA
(3)	 f'k{kkFkhZ fy[kus ;k uk fy[kus ds fy, Lora= gSA
(4)	 f'k{kkFkhZ ;s eglwl ugha djrs gSa fd mUgsa dqN vf/kd ;k 

,dne lVhd fy[kuk gSA
117.	;g vf/kxe dk ,d izdkj gS ftlesa cPps dks mPp Lrjh; 

ekufld izfØ;kvksa tSls cqf¼ ;k rdZ djuk vkfn dk iz;ksx djuk 
gksrk gS%
(1)	 lajpuk vf/kxe	 (2)	 ekSf[kd vf/kxe
(3)	 vo/kkj.kk vf/kxe	 (4)	 xR;kRed dkS'ky vf/kxe

118.	fuEufyf[kr esa ls dkSu&lk d{kk;h vH;kl fo|kfFkZ;ksa esa ekSf[kd 
Hkk"kk ds fodkl esa enn djsxk\
(1)	 u, ;k vifjfpr 'kCnksa ds lgh mPpkj.k dk vH;kl djukA
(2)	 v/;kid ds lkFk ikB~;lkexzh dk leosr iBuA
(3)	 dfork dks daBLFk dj ysus ds ckn dfork dk leosr xk;uA
(4)	 jksy Iys esa Hkkx ysukA

119.	tc ge ;g dgrs gSa fd ^Hkk"kk ;kn`fPNd gS* rks bldk rkRi;Z gS&
(1)	 Hkk"kk igys ls fu/kkZfjr fl¼kUrksa dk ikyu djrh gSA
(2)	 Hkk"kk ds 'kCnksa vkSj muds vFkks± ds chp vUrfuZfgr lEcU/k gSA
(3)	 'kCnksa vkSj muds vFkks± ds chp lEcU/k fdlh Bksl dkj.k ij 

vk/kfjr gS u fd cl ;w¡ ghA
(4)	 Hkk"kk ds 'kCnksa vkSj muds vFkks± ds chp fdlh izdkj dk 

vUrfuZfgr lEcU/k ugha gSA
120.	Hkk"kk vf/kxe esa funkukRed ijh{k.k dk mís'; D;k gS\

(1)	 fo|kfFkZ;ksa ds izxfr fjiksVZ dkMZ esa izkIrQy fy[kukA
(2)	 ;ksxkRed vkdyu ds fy, ;kstuk ,oa iz'u cukukA
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(3)	 vfHkHkkod&f'k{kd cSBd esa vfHkHkkodksa dks lwfpr djuk 
vkSj /;ku nsus ds fy, dgukA

(4)	 cPpksa dh le> esa jg x, varjksa dks tkuuk vkSj mipkjkRed 
dne mBkukA

Language-II : English

Directions (Qs. No. 121 to 128): Read the given below 
passage and answer the questions that follow: 
Perhaps the worst of the ordeals was to be shut in a 
darkened room for long, uncertain periods, in solitary 
confinement and complete silence. Gagarin himself 
described the experience.
	 "There was no sound, not even the slightest rustle. 
No movement of the air-nothing. It was uncanny, 
unnerving."
	 He would shut his eyes and imagine himself in a 
space-cabin in orbit, looking at the world passing beneath 
him or sometimes he would recite half-remembered 
poetry to himself.
	 Then, came parachute training. Gagarin made forty 
parachute jumps of gradually increasing difficulty.
	 One of the most interesting of the training 
experiments was the method of providing experience 
of weightlessness. In the early stage the express lift of 
the great Moscow University building was used. From 
the twenty-eighth floor to the bottom allowed a drop of 
500-feet’. At a certain high speed the passenger would 
find himself suspended between the floor and ceiling 
of the lift without support. This was a convenient and 
inexpensive way of reproducing ‘zero gravity’.
	 Special air brakes prevented the lift from crashing as 
it reached the bottom.
	 On the morning of April 12, Gagarin rose at 5.30, 
He was zipped into his complicated  space suit, on top 
which was a pale blue fibre suit and finally an orange 
one. Then an Air Force bus drove him to the launch site 
in the company with various helpers. The gantry lift 
took him up 100 feet, to the nose of the rocket, and he 
entered the cabin (named Vostok) with a wave to those 
below.
121.	One benefit of travelling in the express lift to Gagarin 

was that :
(1)	 he could come down in less time. 
(2)	 he did not have to pay for it
(3)	 it was very thrilling. 
(4)	 he experienced zero gravity.

122.	Study the following statements 
A.	 On April 12, Gagarin woke up at 5.00
B.	 He wore a blue space suit 
C.	 He travelled in space in Vostok.
(1)	 A and B are wrong but C is right
(2)	 A and B are right but C is wrong.
(3)	 B and C are right but A is wrong.
(4)	 A and C are right but B is wrong.

123.	Gagarin was a/an:
(1)	 paratrooper
(2)	 space traveller
(3)	 adventure tourist
(4)	 physicist at Moscow University

124.	'.... looking at the world passing beneath him'.
	 The underlined word is a/an _____.

(1)	 conjunction	 (2)	 article
(3)	 preposition	 (4)	 adverb

125.	Study the following statements:
A.	 In his private life Gagarin was a poet.
B.	 In the experimental darkroom, there was no air.
(1)	 Both A and B are right. 
(2)	 A is right and B is  wrong
(3)	 B is right and A is wrong. 
(4)	 Both A and B are wrong.

126.	'..... and he entered the cabin'
	 The underlined is a/an ............ clause.

(1)	 Coordinate	 (2)	 Noun
(3)	 Adjective	 (4)	 Adverb

127.	Gagarin was shut up in a dark room
(1)	 to feel like in a space cabin 
(2)	 as  punishment
(3)	 to meditate 
(4)	 as an experiment

128.	'......... a convenient and inexpensive way....
	 Choose the word nearest in meaning to the 

underlined one. 
(1)	 cracking	 (2)	 contrite
(3)	 cordial	 (4)	 handy

Read the passage given below and answer the questions 
that follow: (129 to 135)
	 My home town in the mid-1970s was a laid back 
place, resembling a remote rural area, except in having 
some amenities. Our house was almost at one end of the 
town. About 15 km away, there was a small village where 
a fair was held for a week every year during the harvest 
season. The village deity was worshipped by many from 
the places in the vicinity. 
	 Devotees thronged the fair not only for divine 
blessings but also to watch street-shows and other 
entertainment events. Only a mud track led to the village 
and everyone reached there by walking or on bullock 
carts.  
	 My father, an advocate by profession, was popular 
among the villagers. His clients from the place used to 
arrange bullock carts for us and a few family-friends and 
relatives to attend the fair.
	 The journey would start early in the morning. We 
children will be in a separate car, I used to eagerly look 
forward to this occasion every year as though it was a 
journey of a life-time and worth enjoying-every minute 
of it. Money saved for this fair would be tucked firmly in 
my pockets during the journey, Whenever the cart jerked 
or sped away, I would hold my pockets tightly so that 
coins would not spill out. 
	 The crowd at the temple in the foothill used to be 
highly unorganised, especially at the food counter where 
prasadam was served. Hot and spicy puffed rice and tea 
made of jaggery were the delectable combination of food 
and beverage every devotee craved.
	 Going to the temple used to be the last priority of 
children. Fearing elders’ wrath, we would hurriedly 
finish the formality of darshan.
129.	Study the following statements :

A.	 Children were given enough pocket money on 
the fair day. 

B.	 Small children would travel with their parents in 
a separate car.

C.	 Well-to-do villagers liked to oblige the writer's 
father.

(1)	 A and B are wrong but C is right.
(2)	 A and B are right but C is wrong.
(3)	 B and C are right but A is wrong. 
(4)	 A and C are right but B is wrong. 
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130.	Which one of the following statements is not true?

(1)	 Prasad distributed there was very delicious.
(2)	 People visited the fair for divine blessings.
(3)	 Most of the people visited the fair only for its 

market.
(4)	 Prasads distribution was quite chaotic.

131.	Which one of the following statements is true?
(1)	 People visited his home town for religious reason 

also.
(2)	 The narrator's home town was in a remote area.
(3)	 Life was comfortable in all respects.
(4)	 It was known for an annual fair.

132.	The devotees thronged the fair.
	 Choose the option which is nearest in meaning to 

the underlined word.
(1)	 appreciated	 (2)	 attacked
(3)	 visited	 (4)	 crowded

133.	'I used to eagerly look forward....'
	 Choose the word opposite to the meaning of the 

underlined one.
(1)	 indifferently	 (2)	 heartily
(3)	 uneasily	 (4)	 easily

134.	Study the following statements:
A.	 The writer would be very careful while travelling 

in the cart.
B.	 Inspite of the jerks and jolts, the journey was 

enjoyable.
(1)	 Both A and B are wrong
(2)	 A is right and B is wrong
(3)	 B is right and A is wrong
(4)	 Both A and B are right

135.	'Only a mud track let to the village'.
	 The underlined word is a/an _________.

(1)	 Adverb	 (2)	 Noun
(3)	 Pronoun	 (4)	 Adjective

136.	At the primary level, a teacher generally motivates 
learners to colouring and drawing as it helps in :
(1)	 relaxing the teacher from teaching
(2)	 engaging learners to maintain silence in the class
(3)	 developing fine motor skills
(4)	 entertaining learners

137.	The statements that describe the knowledge, skills 
and attitudes that students should acquire by the 
end of a particular class or course come under 
_________.
(1)	 foundational literacy outcomes
(2)	 teaching outcomes
(3)	 learning outcomes
(4)	 numeracy outcomes

138.	A teacher promotes group discussion and peer 
interaction in her classroom. She does not bother to 
correct spelling or pronunciation errors. She is using 
_________ approach in her classroom.
(1)	 Constructivist	 (2)	 Traditional
(3)	 Electric	 (4)	 Structural

139.	To teach tense in your class you use two pictures of 
the same person - one picture taken 15 years ago 
and another just clicked. You initiate a talk in the 
class about his present and past - his appearance, his 
habits. Now, you are using:
(1)	 Rule based Grammar	 (2)	 Prescriptive Grammar
(3)	 Structural Grammar	 (4)	 Pedagogical Grammar

140.	While preparing a Lesson Plan on the topic 'Pollution' 
what will be your first step?
(1)	 Frame objectives
(2)	 Prepare introductory questions

(3)	 Go through the topics many times
(4)	 Select teaching aids

141.	When language is learnt naturally and without any 
systematic practice, it is called:
(1)	 Learning	 (2)	 Erudition
(3)	 Acquisition	 (4)	 Acceptance

142.	Children learn a language most effectively when 
they have _________.
(1)	 motivation
(2)	 a proficient language teacher
(3)	 a good textbook
(4)	 inhibition

143.	Linguistic competence enables learners to ________.
(1)	 use more and more English.
(2)	 differentiate grammatically correct and incorrect 

sentences.
(3)	 speak fluently even if not grammatically correct.
(4)	 know how and when to use the language 

appropriately.
144.	A teacher brings real-life objects like umbrella/

raincoat, screwdriver etc. to her class. She asks 
the learners to describe the objects in two to three 
sentences. The materials that the teacher brings to 
the class are technically called _________.
(1)	 Realia 	 (2)	 language input
(3)	 Teaching instruments 	(4)	 Tools

145.	Today Raju is very happy as he is going to school. He 
is the first from his family to come to school.  None 
in his family, not even his parents, had ever enrolled 
in any school. Raju is thus a _________ learner.
(1)	 Minority 	 (2)	 First generation
(3)	 Second generation 	 (4)	 Marginalised

146.	One of the important features of _________ is that 
the learners solve problems collectively either in a 
pair or in a group.
(1)	 structural approach
(2)	 communicative language teaching
(3)	 behaviourist approach
(4)	 whole language approach

147.	A teacher asks her learners to write a paragraph 
on ‘water’. Then the learners start discussing what 
they have been taught in science and social science 
classes. Then they begin to write a paragraph on 
water. This is an example of :
(1)	 Communicative approach 
(2)	 Language in use
(3)	 Language of science 
(4)	 Language across curriculum

148.	You, as a teacher, find that the language used in the 
lesson is very difficult for your learners. You simplify 
the language and also make certain changes in the 
content to suit your learners. What you have done is 
called _________.
(1)	 Review	 (2)	 Adopting
(3)	 Adaptation	 (4)	 Evaluation

149.	You were born and brought up in a village where 
everybody spoke Hindi and you began using this 
language without going to any school. Later  when 
you went to school you studied English, Sanskrit, 
Hindi and Urdu. Now, you speak English very 
fluently. Now, which is your first language?
(1)	 Sanskrit	 (2)	 English	 (3)	 Hindi	 (4)	 Urdu

150.	When you go to teach, you find that the textbook 
begins with rhymes and picture stories and ends 
with the alphabet. Which approach does this kind of 
arrangement suggest in language pedagogy?
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(1)	 Aesthetic approach	 (2)	 Bottom up approach
(3)	 Top down approach	 (4)	 Eclectic approach

Language-II : Hindi

funsZ'k % fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa (ç- la- 121 ls 
128) ds lgh@lokZf/kd mi;qDr fodYi dk p;u dhft,A
	 ,d nwljk ladV Xysf'k;jksa ds rstÛh ls fi?kyus vkSj vpkud VwVus 
ls [krjukd ck<+ vkSj tyIykou dk ladV gSA i;kZoj.k ds bl ladV 
dks ysdj ns'k ds yksxksa vkSj ljdkjksa dh psruk dk tks Lrj gS] og fpark 
c<+kus okyk gSA [ksr [kRe gks jgs gSa] isM+ dkVs tk jgs gSa vkSj taxyksa dks 
ysdj flQZ vkadM+ksa ij tÛksj gSA mnkjhdj.k ds ckn yksxksa ds jgu&lgu 
vkSj tÛ:jrksa esa vk;k cnyko vc eqlhcr cuus okyk gSA ge esa ls gj 
dh ftÛanxh esa xSj tÛ:jh lqfo/kkvksa dks Hkksx yxkrkj c<+k gSA pkyhl 
ikj dh mez okys vklkuh ls vius cpiu ds fnuksa dks ;kn djds le> 
ldrs gSa fd lalk/kuksa dk va/kk/kqa/k bLrseky mudh ftÛanxh esa fdl dnj 
c<+ pqdk gSA bldk vlj ekSle] [ksrksa vkSj Q+lyksa ij iM+ jgk gSA ekpZ 
esa f[kyus okys Qwy vc Qjojh esa utÛj vkrs gSaA Qjojh esa vpkud 
xjeh iM+rh gS vkSj xsgwa lw[kus yxrk gS vkSj tc rd Qly rS;kj gksrh 
gS vpkud csekSle dh ckfj'k vkdj mls rckg dj nsrh gSA vke ds 
ckxoku 'kq#vkrh ckSjksa dks ns[kdj [kq'k rks gksrs gSa ij vpkud dekZ dk 
vka/kh&rwQku mudh lkjh [kqf'k;ksa dks fuxy tkrk gSA i;kZoj.k oSf'od 
leL;k gS ij mldk gy gekjh tÛ:jrksa dks de djus esa fNik gSA
121.	x|ka'k ds vuqlkj fpark dk fo"k; gS -----------A

(1)	 taxyksa ls lEcfU/kr vk¡dM+s
(2)	 i;kZoj.k ds izfr psruk dh deh
(3)	 mnkjhdj.k dh uhfr dk gksuk
(4)	 lalk/kuksa dk mfpr mi;ksx

122.	i;kZoj.k leL;k gS -----------A
(1)	 ,f'k;k dh	 (2)	 Hkkjr dh
(3)	 ;wjksih; ns'kksa dh	 (4)	 lalkj Hkj dh

123.	x|ka'k ds vuqlkj lalk/kuksa ds va/kk/kqa/k iz;ksx dk izHkko ----------- 
iM+rk gSA
(1)	 vk¡dM+ksa vkSj ty ij	 (2)	 [ksrh ,oa vk¡dM+ksa ij
(3)	 ekSle vkSj vk¡dM+ksa ij	 (4)	 ekSle ,oa [ksrh ij

124.	^Xysf'k;j* 'kCn gS -----------A
(1)	rn~Hko	 (2)	 vkxr	 (3)	 rRle	 (4)	ns'kt

125.	x|ka'k ds vuqlkj i;kZoj.k laj{k.k dk lcls mi;qDr mik; gS ----
-------A
(1)	 jgu&lgu ds Lrj esa o`f¼ djuk
(2)	 vko';drkvksa esa deh djuk
(3)	 o`{kkjksi.k djuk
(4)	 Hkwfe vijnu dh jksdFkke djuk

126.	^oSf'od* esa ewy 'kCn rFkk izR;; gS ------------A
(1)	 oS'o$bd	 (2)	 oSf'o$d
(3)	 fo'o$bd	 (4)	 fo'o$d

127.	mnkjhdj.k ds dkj.k&
(1)	 vko';drkvksa esa o`f¼ gqbZ gSA
(2)	 vuko';d lqfo/kkvksa ds miHkksx esa o``f¼ gqbZ gSA
(3)	 vuko';d lqfo/kkvksa ds miHkksx esa deh vkbZ gSA
(4)	 vuko';d O;; esa o`f¼ gqbZ gSA

128.	^cpiu* 'kCn gS --------------A
(1)	 nzO;okpd laKk	 (2)	 Hkkookpd laKk
(3)	 O;fDrokpd laKk	 (4)	 tkfrokpd laKk

funsZ'k % fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa (iz-la- 129&135) 
ds lgh@lokZf/kd mi;qDr dk p;u dhft,A
thou esa jkSud rc gS] tc og cM+s lgt vkSj ljy rjhds ls fcuk 
fdlh iziap ds ft;k tk,A thou tSlk fu'Ny] fu"diV gS] oSlk gh 
ft;k tk, rks thuk ojnku cu tkrk gSA thou tSlk feyk gS mldks ge 
oSlk gh thrs gSa] rks ;g thou dk lEeku gksrk gSA vf/kdrj ge tSlk 
thou gS] mls NksM+ fn[kkos dk thou thus yxrs gSaA ;g fn[kkos dk 
thou gesa ckgj rks vius dks dqN cM+k fn[kkus esa enn djrk gS] ysfdu 
Hkhrj ls [kks[kyk Hkh djrk pyrk gSA D;ksafd vkMacj ls Hkjk thou 
vgadkj ij vk/kkfjr gksrk gS vkSj vgadkj gekjh thoarrk dks [kk tkrk 
gSA vgadkj esa ge dsoy ckgj dh rjQ+ ns[kdj thrs gSa tcfd thou 
dgha Hkhrj cg jgk gksrk gSA
129.	x|ka'k ds vuqlkj ^vgadkj esa ge dsoy ckgj dh rjQ+ ns[kdj 

thrs gSaA* okD; dk vk'k; gS fd -----------A
(1)	 vgadkj gesa loZLo izkIr djus dh vksj ys tkrk gSA
(2)	 vgadkj gesa nwj rd ns[kus dh 'kfDr iznku djrk gSA
(3)	 vgadkj gesa fn[kkoVh thou O;rhr djus dh vksj ys tkrk gSA
(4)	 vgadkj gesa fu'Ny thou O;rhr djus dh vksj ys tkrk gSA

130.	thou dk lEeku dSls fd;k tk ldrk gS\
(1)	 thou esa feyh lc ck/kkvksa dks lekIr dj
(2)	 thou esa lqfo/kk,¡ tqVkdj
(3)	 mPp f'k{kk xzg.k dj
(4)	 ftl :i esa thou feyk gS] mls mlh :i esa thdj

131.	thou esa [kq'kh vkrh gS -----------A
(1)	 vkMacjrk ls	 (2)	 ljyrk ls
(3)	 HkkSfrd oLrqvksa ls	 (4)	 diVrk ls

132.	^iziap* ls rkRi;Z gS --------------A
(1)	 ik¡p ok;q	 (2)	 ik¡p izdkj
(3)	 vkMacj	 (4)	 ik¡p iap

133.	fuEu esa fo'k"k.k gS -----------A
(1)	thoarrk	 (2)	 thoar	 (3)	lEeku	 (4)	ojnku

134.	lewg ls fHkUu 'kCn gS -----------A
(1)	v/keZ	 (2)	 vkMacj	 (3)	vgadkj	 (4)	vlgt

135.	^vk/kkfjr* esa izR;; gS -----------A
(1)	 br	 (2)	 r	 (3)	 fjr	 (4)	/kkfjr

136.	izkFkfed Lrj ij ,d v/;kid vius f'k{kkfFkZ;ksa dks jax djus 
vkSj fp=dkjh djus ds fy, izksRlkfgr djrh gSA ;g fdl rjg ls 
ennxkj gS\
(1)	 v/;kid dks v/;kiu ls foJke nsus esa
(2)	 d{kk esa pqIih cuk, j[kus esa
(3)	 lw{e xR;kRed dkS'kyksa dk fodkl djus esa
(4)	 f'k{kkfFkZ;ksa dk euksjatu djus esa

137.	os dFku tks fdlh d{kk fo'ks"k ;k ikB;Øe (dkslZ) ds vUr esa 
fo|kfFkZ;ksa }kjk vftZr Kku] dkS'ky vkSj izo`fÙk dk o.kZu djrs gSa] 
os D;k dgykrs gSa\
(1)	 cqfu;knh lk{kjrk izfrQy	 (2)	 f'k{k.k izfrQy
(3)	 vf/kxe izfrQy	 (4)	 la[;kRed izfrQy

138.	,d v/;kfidk viuh d{kk esa lewg ppkZ vkSj lgikfB;ksa esa vUr% 
fØ;kvksa dks egÙo nsrh gSA og fo|kfFkZ;ksa dh lgh orZuh ;k 
mPpkj.k esa xyfr;ksa ij cgqr vf/kd /;ku ugha nsrh gSA og d{kk 
esa fdl mikxe dk iz;ksx dj jgh gS\
(1)	 jpukoknh	 (2)	 ikjEifjd
(3)	 mnkjoknh (,DySfDVd)	 (4)	 lajpukRed
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139.	viuh d{kk esa ^dky* dk f'k{k.k djrs le; vki ,d gh O;fDr 
ds nks fp= fn[kkrs gSa&

	 ,d fp= iUnzg o"kZ igys dk gS vkSj ,d fp= tks vHkh vHkh 
[khapk x;k gSA vki bu fp=ksa ds vk/kkj ij ml O;fDr ds orZeku 
vkSj Hkwr&og dSlk fn[krk gS] mldh vknrsa bu ij ckr vkjaHk 
djrs gSaA vki fdldk iz;ksx dj jgs gSa\
(1)	 fu;e vk/kkfjr O;kdj.k
(2)	 funsZ'kkRed O;kdj.k (izSlfØfIVo)
(3)	 lajpukRed O;kdj.k
(4)	 f'k{k.k'kkL=kh; O;kdj.k

140.	^iznw"k.k* VkWfid ij ikB;kstuk rS;kj djrs le; vkidk igyk 
pj.k D;k gksxk\
(1)	 mís'; cukukA
(2)	 izLrkouk lEcU/kh iz'u rS;kj djukA
(3)	 VkWfid dks ckj&ckj i<+ukA
(4)	 f'k{k.k lkexzh dk p;u djukA

141.	tc Hkk"kk LokHkkfod :i ls lh[kh tkrh gS] fcuk fdlh O;ofLFkr 
vH;kl ds] rc bls D;k dgk tkrk gS\
(1)	vf/kxe	 (2)	 fo}Ùkk	 (3)	vtZu	 (4)	 Lohd`fr

142.	cPps Hkk"kk izHkko'kkyh rjhds ls rc lh[krs gSa tc ----------A
(1)	 mUgsa izksRlkgu feys
(2)	 mUgsa Hkk"kk esa fuiq.k v/;kid feys
(3)	 mUgsa vPNh ikB~;iqLrd feys
(4)	 mUgsa jksdk tk,

143.	Hkkf"kd n{krk f'k{kkfFkZ;ksa dks fdlds leFkZ cukrh gS\
(1)	vf/kd ls vf/kd vaxzstÛh dk iz;ksx djukA
(2)	 O;kdjf.kd :i ls lgh vkSj xyr okD;ksa esa vUrj djukA
(3)	 Hkys gh O;kdjf.kd :i ls lgh u gks ij izokg ds lkFk cksyus 

dh n{krkA
(4)	 ;g tkuus dh n{krk fd dSls vkSj dgk¡ Hkk"kk dk mfpr :i 

ls iz;ksx djuk gSA
144.	,d v/;kid viuh d{kk esa okLrfod oLrq,¡ fd Nrjh] cjlkrh] 

iaspdl vkfn ykrh gSA og f'k{kkfFkZ;ksa ls dgrh gS fd izR;sd 
'kCn ds ckjs esa nks ;k rhu okD; dgsaA bl izdkj dh lkexzh dks 
rduhdh :i ls D;k dgk tk,xk\
(1)	 okLrfod oLrq,¡ (jhify;k)	 (2)	 Hkk"kk fuos'k
(3)	 f'k{k.k midj.k	 (4)	 midj.k

145.	vkt jktw fo|ky; tk jgk gS] blfy, og cgqr [kq'k gSA vius 
ifjokj dk og igyk O;fDr gS tks fo|ky; tk jgk gSA mlds 
ifjokj esa blls igys dksbZ Hkh ugha] ;gk¡ rd fd mlds vfHkHkkod 
dHkh fo|ky; ugha x,A jktw dks fdl f'k{kkFkhZ ds lax esa tk,¡xs\
(1)	 vYila[;d	 (2)	 izFke ih<+h
(3)	 f}rh; ih<+h	 (4)	 gkf'k;kd`r

146.	fuEufyf[kr esa ls fdldk ,d egÙoiw.kZ xq.k/keZ gS] ftlesa 
f'k{kkFkhZ tksM+ksa ;k lewg esa ,d&lkFk feydj leL;k lek/kku ij 
dk;Z djrs gSa\
(1)	 lajpukRed mikxe	 (2)	 lEizs"k.kkRed Hkk"kk f'k{k.k
(3)	 O;ogkjoknh mikxe	 (4)	 lexz Hkk"kk mikxe

147.	,d v/;kid us vius f'k{kkfFkZ;ksa dks ^ty* ij ,d vuqPNsn 
fy[kus ds fy, dgkA f'k{kkfFkZ;ksa us foKku vkSj lkekftd foKku 
dh d{kkvksa esa tks i<+k Fkk mlds vk/kkj ij vkil esa ppkZ vkjEHk 
dh vkSj mlds ckn vuqPNsn fy[kuk 'kq: fd;kA ;g fdl rjg 
dk mnkgj.k gS\

(1)	 lEizs"k.kkRed mikxe	 (2)	 iz;ksx esa Hkk"kk
(3)	 foKku dh Hkk"kk	 (4)	 Hkk"kk lewps ikB;Øe esa

148.	vkius eglwl fd;k fd ikB esa iz;qDr Hkk"kk vkids f'k{kkfFkZ;ksa 
ds fy, cgqr gh dfBu gSA vki Hkk"kk dks dqN ljy djrs gSa 
vkSj vius f'k{kkfFkZ;ksa dh vko';drkuqlkj fo"k;oLrq esa Hkh dqN 
ifjorZu djrs gSaA vki dk ;g d`R; D;k dgyk,xk\
(1)	 leh{kk djuk	 (2)	 vaxhdkj djuk
(3)	 vuqdwyu djuk	 (4)	 ewY;kadu djuk

149.	vkidk ikyu&iks"k.k ,d ,sls xk¡o esa gqvk tgk¡ lHkh yksx fganh 
cksyrs Fks vkSj vkius ;g Hkk"kk fcuk fo|ky; x, gh lh[k yhA 
ckn esa tc vki fo|ky; x, rks vkius vaxzsth] laLd`r] fganh vkSj 
mnwZ lh[khA vc vki vaxzstÛh Hkk"kk izokg ds lkFk cksyrs gSaA vc 
vkidh izFke Hkk"kk dkSu&lh gS\
(1)	laLd`r	 (2)	 vaxzstÛh 	 (3)	 fganh	 (4)	mnwZ

150.	v/;kiu dh nqfu;k esa izos'k djus ds ckn vkius vuqHko fd;k 
fd ikB~;iqLrd dh 'kq#vkr esa f'k'kqxhr vkSj fp= dFkk,¡ gksrh gSa 
vkSj vUr esa o.kZekyk gksrh gSA Hkk"kk f'k{k.k'kkL= esa bl izdkj dh 
O;oLFkk fdl mikxe ds vUrxZr vk,xh\
(1)	 lkSUn;kZRed mikxe
(2)	 okWVevi mikxe (v/kks 'kh"kZxkeh)
(3)	 VkWi Mkmu mikxe (m/oZ v/kksxkeh)
(4)	 bDySfDVd mikxe (mnkjoknh)
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Child Development 
and Pedagogy

1.	 Option (2) is correct.
Explanation: Learners feel engaged 
and actively involved in the process 
of learning when activities are related 
to their context. Such type of learning 
environment becomes more mean-
ingful, fostering the learner's interest 
in the learning process.

2.	 Option (3) is correct.
Explanation: 

|| Teachers should provide 
emotional support to children in 
the classrooms to ensure effective 
learning. A supportive learning 
environment helps children to feel 
safe, fostering their engagement 
in the classroom and performing 
better in academic as well.

|| Emotions and cognition are relat-
ed to each other in complex ways. 
In simple words, we can say, that 
emotions can enhance the cogni-
tion level of an individual. 

Thus, both (A) and (R) are true but (R) 
is not the correct explanation of (A).

3.	 Option (4) is correct.
Explanation: Children with ‘learning 
difficulties’ typically have confusion 
with letters and alphabets that look 
alike. This confusion makes reading 
and writing challenging for them. A 
learner is expected to face learning 
difficulties in reading and writing 
while linking speech sounds to let-
ters. For example, learners may mix 
up letters like "b" and "d" or "p" and 
"q.". Suh learners need extra practice 
and support to improve over time.

4.	 Option (3) is correct.
Explanation: John Dewey introduced 
progressive education, where stu-
dents gain knowledge by engaging 
themselves with active hands-on 
learning experiences through pro-
jects, experiments, and collaboration 
with peers. In progressive education, 
a teacher ensures the holistic devel-
opment of the child, so each child 
learns at their own pace and rate 
for their future life. Thus, a teacher 
serves as a facilitator in progressive 
education.

5.	 Option (1) is correct.
Explanation: Gifted students learn at 
a comparatively advanced pace than 
other students. They tend to think 
faster, grasp new concepts quickly, 
and learn new concepts faster by 

processing the information more 
efficiently. Gifted students have ad-
vanced cognitive abilities that allow 
them to understand and apply com-
plex concepts/information earlier 
than other students.

6.	 Option (1) is correct.
Explanation: As per Jean Piaget, the 
pre-operational stage is characterised 
by abilities to perform symbolic play 
and animism.

|| Symbolic Play: Jean Piaget be-
lieves that at this stage children are 
engaged in pretend play as they 
use symbols to represent words, 
images, and ideas.

|| Animism: The belief that inani-
mate objects are capable of actions 
and have lifelike qualities. Jean 
Piaget believed that Children in 
the first part of the preoperation-
al stage believe any object that 
affects people is alive.

7.	 Option (4) is correct.
Explanation: The primary purpose 
of asking critical thinking questions 
is to promote higher-level thinking 
and problem-solving skills. Critical 
thinking questions encourage stu-
dents to analyse, evaluate, and syn-
thesise a problem or issue to make a 
decision or find a solution. Moreover, 
such questions clarify concepts and 
develop reasoning skills in students.

8.	 Option (2) is correct.
Explanation: Heredity determines 
an individual’s sex. Heredity is influ-
enced by the physical appearance of 
a child. For example, height, weight, 
the colour of the eye, complexion, 
aptitude, intelligence, etc.

9.	 Option (2) is correct.
Explanation: Growth in height and 
weight of children is an example of 
Quantitative changes.

|| Quantitative changes refer to in-
creased size, weight, height, and 
body proportions in children. For 
example, increase in length in 
inches, and weight in kilograms 
in children.

10.	 Option (3) is correct.
Explanation: A Russian Psychologist, 
Lev Vygotsky proposed a theory of 
socio-cultural development, empha-
sising a child's social interaction, cul-
ture, and language development. He 
also proposed three learning needs of 
a student. According to him, children 
regulate their behaviour through the 

use of inner speech. As, this inner 
speech helps students to plan, or-
ganize and monitor their thoughts/ 
actions, or decisions.

11.	 Option (3) is correct.
Explanation: Development occurs in 
a spiral manner, not linear.

|| Development in a child is based 
upon previous experiences his/
her past experiences. When 
development is occurring in a 
spiral manner a child can revisit 
and refine his/her thoughts or 
ideas over time, leading to more 
comprehensive insights and 
solutions.

12.	 Option (1) is correct.
Explanation: A guided discovery 
pedagogical approach would be 
adopted by teachers who firmly be-
lieve in constructivism to teach con-
cepts of floating and sinking to class 
V children.

|| Constructivist Classrooms allow 
learners to build knowledge and 
understanding of concepts based 
on their personal experiences. In 
this kind of setup,
•	 students work in groups em-

phasising collaborative and co-
operative learning.

•	 Allows learners to foster their 
learning abilities.

•	 Teachers provide ample oppor-
tunities to students that encour-
age them to learn from their 
personal experiences.

•	 Give primacy to peer tutoring, 
self-assessment, group activity 
and discussion.

13.	 Option (2) is correct.
Explanation: Preconceived gener-
aliz-ations about the behaviour of 
various genders are called gender 
stereotypes.

|| Gender stereotypes are precon-
ceived and generalised notions 
that are widely accepted beliefs 
about traits, roles and behaviours  
based on their gender.

14.	 Option (3) is correct.
Explanation: In an Inclusive class-
room, all children have access to and 
are included in classroom
activities.

|| An inclusive classroom is a class-
room environment built by a 
teacher where he/she provides 
diverse and meaningful learning 
experiences to students to achieve 
their learning outcomes.
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15.	 Option (3) is correct.
Explanation: According to Vygotsky's 
theory, optimal learning occurs in 
the "Zone of Proximal Development" 
(ZPD). This involves providing stu-
dents with tasks slightly beyond their 
current ability, but achievable with 
guidance. This approach, known as 
scaffolding, challenges students to 
stretch their capabilities while offer-
ing necessary support. It promotes 
cognitive growth by bridging the 
gap between what learners can do 
independently and what they can 
potentially achieve with assistance.

16.	 Option (3) is correct.
Explanation: According to Lawrence 
Kohlberg's theory of moral develop-
ment, Arunima's reasoning falls un-
der the stage of "Morality of contract, 
individual rights, and democratically 
accepted law." At this stage, individu-
als recognize that laws and rules are 
important for maintaining societal 
order, but they also understand that 
these rules can be flexible when they 
conflict with human rights or social 
welfare. Arunima's reasoning shows 
an understanding that while the law 
is important, it can be justified to 
break it in certain situations for the 
greater good.

17.	 Option (1) is correct.
Explanation: While talking about 
her poor marks in mathematics Avi 
says “ I just don’t have the sense for 
numbers”. Avi is attributing his per-
formance to a lack of ability.

|| Lack of ability means an individ-
ual does not have the essential 
skills or competency to perform a 
particular task or activity.

18.	 Option (2) is correct.
Explanation: Children develop at 
various paces in different ways and 
the rate of development in children 
varies from child to child, and from 
time to time. This is the reason that 
some children start babbling and 
uttering two-word sentences at 12 
months and others don't do this till 
they are 20 months old. Therefore, 
development milestones are only 
suggestions and the development of 
the individual can be varied.

19.	 Option (3) is correct.
Explanation: Well-formulated critical 
thinking questions are not based pri-
marily on factual information.

|| Critical thinking questions encour-
age students to analyse a problem, 
consider various perspectives of it, 
and find a conclusion to it.

20.	 Option (3) is correct.
Explanation: Teachers should con-
stantly examine their attitudes and 
biases while working with children. 
This helps teachers to be self-aware 
about their doing in the classroom to 

ensure fair treatment of all students 
in his/her classroom. However, this is 
not directly explained by the concept 
of functional fixedness, which refers 
to a cognitive bias that limits a person 
to using an object only in the way it 
is traditionally used, thus hindering 
problem-solving. While both state-
ments are true, they address different 
aspects of cognitive and educational 
psychology.

21.	 Option (4) is correct.
Explanation: 

|| Classroom pedagogy should be 
culturally responsive to meet the 
needs of students from diverse 
cultural backgrounds, fostering 
an inclusive learning environment 
where students from diverse back-
grounds feel inclusive, valued, 
and understood.

|| Equity in a classroom can be en-
sured only through standardized 
curriculum and assessment. This 
statement is incorrect as equity in 
the classroom also requires some 
flexibility and adaptation to adopt 
diverse learning styles and needs 
of students coming from various 
cultural backgrounds.

So, (A) is true but (R) is false.
22.	 Option (3) is correct.

Explanation: Howard Gardner’s 
concept of Intelligence implies that 
human beings differ in their abilities 
in different domains.

|| In the 1980s, Harvard Gardner, a 
psychologist proposed ‘The Theo-
ry of Multiple Intelligence’, which 
states that people aren’t born with 
intelligence, but multiple different 
types of intelligence may exist in 
different individuals. The eight 
types of intelligence described by 
Harvard Gardner that damaging 
one part of the brain affects only 
a particular ability.

23.	 Option (2) is correct.
Explanation: Rote Rehearsal is not 
an effective memory technique for 
meaningful learning.

|| Meaningful learning is the active 
creation of knowledge structures 
leading to the active creation of 
knowledge structures. Examples 
of meaningful learning are Elabo-
rative rehearsal, mnemonics, and 
concept mapping.

|| Rote rehearsals are not an exam-
ple of meaningful learning as they 
involve repeating information/ 
content over and over again. The 
rote rehearsal method will help a 
learner in short-term memorisa-
tion but doesn't promote a deep 
understanding of concept/knowl-
edge or long-term retention.

24.	 Option (2) is correct.
Explanation: The development of 
children's cognitive abilities follows 

a sequence of representations: ac-
tion-based, image-based, and sym-
bol-based. Initially, children under-
stand a concept through observing 
others' physical actions and by inter-
acting with them. As they grow, chil-
dren begin to use their mental images 
to represent ideas/things. Eventually, 
children develop the ability to use 
symbols, such as words and num-
bers, to represent complex concepts 
abstractly.

25.	 Option (2) is correct.
Explanation: Child-centred pedago-
gy means education is provided ac-
cording to the needs of the individ-
ual learner, ensuring opportunities 
are given to all learners' voices and 
with their active participation in the 
classroom. The teacher uses various 
teaching methods such as asking 
questions in the classroom and en-
couraging children also to ask ques-
tions making the teaching-learning 
process interesting. Thus, Both (A) 
and (R) are true and (R) is the correct 
explanation of (A).

26.	 Option (1) is correct.
Explanation: Jagriti has learned that 
her dog, Rusty, is a Golden Retriev-
er. When she sees another dog that 
looks similar to Rusty but is a different 
breed, she calls it a dog too. Accord-
ing to Jean Piaget's theory of cogni-
tive development, this demonstrates 
assimilation.

|| Jean Piaget, a Swiss Psychologist, 
proposed Theory of Cognitive 
Development comprises 4 stages 
of learning, i.e., Schema, Assimi-
lation, Accommodation, and Equi-
librium.

|| Assimilation means using pre-
vious knowledge to learn and 
adapt new knowledge according 
to one’s understanding. In oth-
er words, assimilation happens 
when an individual learns new 
things relating them to already 
known things.

27.	 Option (1) is correct.
Explanation: Feral children, those 
who experienced severe (human) 
social deprivation since a very young 
age usually have delayed or hindered 
development and despite rehabilita-
tion, the improvement in certain do-
mains of development is likely to be 
subordinate. This period wherein de-
velopment is significantly influenced 
by environmental support is called a 
sensitive period.

|| A feral child refers to a child who 
has grown up with limited hu-
man contact from a very young 
age. The presence or absence of 
social and environmental stimuli 
has a profound impact on a child's 
growth.
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28.	 Option (2) is correct.
Explanation: Repetitive and ritu-
alistic behaviour is an identifying 
characteristic of autism spectrum 
disorder.

|| Autism Spectrum Disorder (ASD) 
is a neurodevelopmental disorder 
that affects an individual behav-
iour when he/she communicates, 
and interacts with others. Core 
symptoms of autism spectrum dis-
order are Restricted and repetitive 
behaviours.

29.	 Option (3) is correct.
Explanation: The growth and learn-
ing progress portfolio supports con-
tinuous and comprehensive evalua-
tion.

|| A growth and learning progress 
portfolio is a collection of evidence 
that represents a child’s develop-
ment over time. It includes various 
examples of his/her achievements, 
skills gained, and improvements 
he/she has made in various areas. 
This portfolio helps teachers, par-
ents, and especially children to 
track their performances, reflect 
on their learning and experiences, 
and set future goals for continuous 
improvement and development.

30.	 Option (1) is correct.
Explanation: According to socio-con-
structivist theories, the process of 
learning is a social process of mean-
ing-making.

|| Social-constructivist classrooms 
allow learners to build knowledge 
and understanding of concepts 
based on collaborative interac-
tions. In a Social-Constructivist 
Classroom, children are actively 
involved in the learning process 
and teachers acting as facilitators 
play a vital role in setting up such 
an environment in a classroom.

	 In this kind of setup,
•	 students work in groups em-

phasizing collaborative and co-
operative learning.

•	 Allows learners to foster their 
learning abilities through active 
engagement and interactions.

•	 Ample opportunities are pro-
vided to students by teachers 
that encourage them to learn 
from their experiences and in-
teractions.

Mathematics

31.	 Option (4) is correct.
Explanation:
12 thousand + 13 hundred + 2 tens
⇒ 12000 + 1300 + 20 = 13320

32.	 Option (2) is correct.
Explanation: One crore is equal to 
ten million.

33.	 Option (3) is correct.
Explanation: (b) and (d)

Graph paper is the best resource to 
explain the concept of decimals and 
number chart is also.

34.	 Option (2) is correct.
Explanation: The letters F, G, J, L, 
N, P, Q, R, S and Z have no line of 
symmetry as the letters cannot be 
divided into two or more equal parts 
such that they overlap each other.

35.	 Option (2) is correct.
Explanation: Total no. of patients
= 25 + 38 + 45 + 18 + 36 + 39 = 201
Range = Maximum no. of patients
– Minimum no. of patients (in a day)
= 45 – 18 = 27

36.	 Option (1) is correct.
Explanation: (a), (b) and (c)

= ⇒ =: :
px

x y p q
y q

(a) addition 1 on both sides
+ +

+ = + ⇒ =1 1
p x y p qx

y q y q

⇒ x + y : y = p + q : q
(b) Subtraction 1 from both sides

− −
− = − ⇒ =1 1

p x y p qx
y q y q

x – y : y = p – q : q

(c) =
px

y q
Also, we write

= ⇒ =: :
yx

x p y q
p q

(d) (a) divided by (b)
Conditions

y p qx
y y q q

y p qx
y y q q

+ +
=

− −

x + y : x – y = p + q : p – q
37.	 Option (1) is correct.

Explanation: Founder of numeric 
analysis are Ramanujan and 
Aryabhatta (A) and (D).

38.	 Option (4) is correct.
Explanation: B, C and D
The whole numbers is a set of positive 
integers.
All positive integers are not whole 
numbers.

39.	 Option (1) is correct.
Explanation: NCF 2005 recommends 
that teaching-learning of mathemat-
ics in primary classes needs to follow 
and integrated approach.
Constructivism is centred on the idea 
that human knowledge and learning 
are actively constructed by learner.

40.	 Option (4) is correct.
Explanation: I. Let the rate of first 
bike is `1000
Discount 8%

⇒ ×
8

1000
100

 = `80

Rate of the first bike is
⇒ 1000 – 80 = `920
Let the rate of the second bike is ̀ 2000
then discount 8%

= ×
8

2000
100  = `160

Rate of the second bike is
= 2000 – 160 = `1840
Total cost of the bike after discount
= 1840 + 920 =  `760
II.  Now again,
Total cost of bikes = 1000 + 2000
= `3000 

Discount 16% = 3000 × 
16
100  = 480

Total cost of the bikes after discount
= 3000 – 4000 = ` 2520
and. If we will take 8% discount on 
the total cost of the bike then

= ×
8

3000
100  = ` 240

Total cost of the bike after discount 
= 3000 – 240 = ` 2760
The cost of bikes after discount each 
price equal to the cost of both bikes 
prices after 8% discount same.

41.	 Option (4) is correct.
Explanation: For example :
x + y = 10
x, y have many values we can put

42.	 Option (4) is correct.
Explanation: A line has no end points
A line segment has a definite length 
but a line does not have a definite 
length. 
A ray has a fixed starting point 
and extends endlessly in another 
direction.

43.	 Option (1) is correct.
Explanation: (7*2) × 126 = 92496

(7 * 2) = 
92496
123

(7*2) = 752

44.	 Option (1) is correct.
Explanation: 

− −
− −
− −

31 03 2023
13 01 1992
18 2 31

31 years 2 months 18 days

45.	 Option (2) is correct.
Explanation: The goal of summative 
assessment is to evaluate student 
learning at the end of an instructional 
unit by comparing it against some 
standard or benchmark.

46.	 Option (1) is correct.
Explanation: (a) and (b)
In early age, children develop 
informal strategies and to estimation.

47.	 Option (2) is correct.
Explanation: (a) and (b)
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 Scissors is the best example 

to explain vertically opposite angles 
and linear pair of angles.

48.	 Option (3) is correct.
Explanation: 1233210 ÷ 5555 – 222
222 – 222 = 0

49.	 Option (3) is correct.
Explanation: Firstly, we will take
LCM (9, 21, 7, 63) = 63

Then, 
× ×
× ×

1 7 3 3 9 12
, , ,

9 7 63 7 9 63

⇒
7 3 27 12

, , ,
63 63 63 63 		

50.	 Option (2) is correct.
Explanation: 
 One egg has a mass of about 65 gm
\ 24 eggs hours of mass of about

×
=

24 65
1

 = 1560 gm

=
1560
1000  kg = 1.56 kg

51.	 Option (3) is correct.
Explanation: (A) and (C)
A mathematics laboratory refers to a 
place where students can experiment 
and explore patterns and ideas. It is a 
place to enjoy mathematics through 
informal exploration. So, the math lab 
should not be used to access students 
knowledge of mathematics.

52.	 Option (1) is correct.
Explanation: Developing mathemat-
ical abstract ideas through concrete.
Experience (ELPS)
E → Experience
L → Spoken language
P → Pictures
S → Written Symbols

53.	 Option (3) is correct.
Explanation: Total available Turpen-
tine oil is
5 × 20 L = 100 litres
In each 10 cans contain 5L
= 10 × 5L = 50 litres
In each 10 cans contain 2L
= 10 × 2L = 20 L
remaining oil = 100 – 50 – 20
= 100 – 70 = 30 L
If each we will needs 30 can
each can contain 1 litre oil.

54.	 Option (2) is correct.
Explanation: The use of mathe-
matics in everyday life is immense. 
From birth to death. From morning 
to night.
Everyone faces quantitative situa-
tions in every part of the environ-
ment language and numbers are the 
tools with which we manipulate the 
world of ours. We have to give great 
importance to number as a primary 
instrument. It is to enable every indi-
vidual capable of making superior ad-
justment with quantitative environ-
ment. Even a labours has to calculate 

to buy things. There are a large no. 
of growing occupations like tailoring, 
carpentry, house building which re-
quire mathematical facts beyond the 
barest elements of Airthmatics.
The whole commercial system, in-
dustry and manufacturers is based 
upon mathematics.

55.	 Option (4) is correct.
Explanation: The expression "22 hm 
8 dam" is a mixed unit expression 
that combines hectometres (hm) and 
dam (decameters). Therefore, "22 hm 
8 dam" is equal to 2280 meters.

56.	 Option (3) is correct.
Explanation: Open curves - It's 
starting point and end point never 
meet.

57.	 Option (2) is correct.
Explanation: The sum of the angles 
of triangle is 180°
Let ∠1 + ∠2 + ∠3 = 180°
then, 50° + 30° + ∠3 = 180°
 ∠3 = 180° – 80°
 ∠3 = 100°

58.	 Option (3) is correct.
Explanation: (b) and (c)
Number sense is a person's ability 
to understand, relate and connect 
numbers. It should be developed 
before the concept of addition and 
subtraction.
Addition is the process of combining 
different elements to generate a new 
total.
Multiplication, on the other hand 
is the process of using repeated 
addition. They are interdependent.

59.	 Option (2) is correct.
Explanation: 
Given digits: 5, 1, 0, 3, 9, 6
Greatest number in 6 digit = 965310
Smallest number in 6 digit = 103569
Difference = 965310 – 103569 
= 861741

60.	 Option (2) is correct.
Explanation: 43, 47, 53, 59, 61, 67, 
71, 73
All are prime numbers.
Prime numbers are those numbers 
which are divided by one and itself 
only.

Environmental Studies

61.	 Option (3) is correct.
Explanation: Usually crows build 
their nests in the upper branches 
of trees. They prefer to nest in ev-
ergreens but will nest in deciduous 
trees when evergreens are less avail-
able.
Weaver birds nest begins with a single 
strand, knotted to branch with beak 
and claw. After that, the technique is 
just like any other weaving pattern- 
the strands are threaded through 
others at opposing angles.

62.	 Option (4) is correct.
Explanation: EVS (Environmental 
Studies)  is a multidimensional sub-
ject that covers important principles 
from various academic fields. It is 
a broad field that studies the basic 
principles of EVS as well as associ-
ated subjects such as social science, 
science, language, mathematics, etc.

|| EVS are coordinated specifical-
ly. Both social examinations and 
science are incorporated on the 
grounds that at the essential level 
understudies are not adequate-
ly developed to study 'weighty' 
subjects like science and sociolo-
gy. Likewise, the diminished edu-
cational program makes learning 
significant at an essential stage.

|| Gives degree to kids' look oral and 
composed and other inventive ar-
ticulations, and so forth.

|| Youngsters find out about their 
current circumstance through in-
vestigating and encountering it, 
assembling and breaking down 
data considering their perceptions 
and encounters, and developing 
their own insight, advancing and 
improving it.

|| Gaining is intended to advance 
from what the youngster knows, 
to what is to be realised, from near-
by to worldwide, or from the quick 
climate to local area and society 
and then some.

|| Parts start with key inquiries start-
ing youngsters into thinking and 
building their own insight.

63.	 Option (3) is correct.
Explanation: Elephants are officially 
hooved mammals, so a group is tech-
nically known as a herd. Elephant 
herd is lead by the oldest female 
elephant. A single herd contains 10-12 
female elephants.
Male elephants leave their herds at 
about 14-15 years old and live soli-
tary lives, sometimes joining loose-
knit “bachelor herds” of other male 
elephants, leaving at will to search for 
potential mates.

64.	 Option (3) is correct.
Explanation: The south direction is 
correct.

65.	 Option (4) is correct.
Explanation: Endemic species are 
plant and animal species that are 
found in a specific geological locale 
and no place else on the planet. A few 
animal types are endemic to a main-
land while others can be endemic to 
an island. e.g., Lemurs of Madagascar 
and Turtles of Galapagos.
Endemic species are those that are 
found in only one locale and no place 
else on the planet. For instance, kan-
garoos are initially endemic to Aus-
tralia and are found no place else 
on the planet. The situations where 
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they have been spotted external their 
normal territory is because of people 
presenting them when the creature 
was in imprisonment.

66.	 Option (1) is correct.
Explanation: Bronze is a copper- 
based combination that commonly 
comprises of roughly 88% copper and 
12% tin. Follow measures of different 
metals, like aluminium, manganese, 
phosphorus, and silicon, may like-
wise be available in the combination.
Brasses are combinations of cop-
per and zinc. They may likewise 
contain modest quantities of other 
alloying components to bestow ben-
eficial properties. Brasses have high 
consumption obstruction and high 
elasticity. They are likewise fit to hot 
fashioning.
Combination steel is a sort of steel 
with alloying components other than 
carbon added to work on its proper-
ties. A portion of the normal increases 
to combination steel include: chro-
mium, cobalt, columbium, molybde-
num, manganese, nickel, titanium, 
tungsten, silicon, and vanadium. 
Compound prepares are known for 
their upgraded properties contrast-
ed with plain-carbon steel, for ex-
ample, erosion opposition, hardness, 
strength, wear obstruction, and du-
rability.

67.	 Option (3) is correct.
Explanation: A hypothetical question 
is one that asks about something that 
isn't real or that isn't happening right 
now but is being thought about for 
the purpose of discussing it it or con-
sidering what might happen if you 
take a certain action or make a certain 
choice.

68.	 Option (2) is correct.
Explanation: Greenwich Mean Time 
(GMT) originally referred to the mean 
solar time at the Royal Observatory in 
Greenwich, London. It is now often 
used to refer to Coordinated Univer-
sal Time (UTC) when this is viewed 
as a time zone, and in casual use for 
the most part it is the same. In the 
military, GMT is known as Zulu time. 
Greenwich Mean Time was the same 
as Universal Time (UT), until the in-
troduction of UTC in 1972, which is 
a astronomical concept used in many 
technical fields.
Greenwich Mean Time is 5 hours 
and 30 minutes behind India Stand-
ard Time.

69.	 Option (3) is correct.
Explanation: Learning through 
shared experiences. Students are 
more successful when they are asked 
to take part in the educational experi-
ence as opposed to just memorizing 
information from the teacher.
Key Points of Think-Pair-Share:

|| By describing experiences in the 
classroom, the children will be 
able to develop self-respect, and 
it reduces feelings of sadness, anx-
iety, and isolation.

|| It helps the student become more 
confident, and they will be better 
able to connect classroom theories 
and knowledge to real-world sit-
uations

70.	 Option (2) is correct.
Explanation: Helpful learning is a 
synchronised cycle wherein under-
studies endeavour to learn some-
thing together. They fill in as a group 
which fosters solidarity and sensation 
of cooperation.

|| Think, match and offer are the 
ways of connecting with the 
entire class in a movement. A 
cooperative learning technique 
expects understudies to cooperate 
to respond to an inquiry or to 
take care of an issue. During this 
movement, understudies:

|| Think: The understudies are con-
strained to thoroughly consider an 
issue, issue, or circumstance. They 
will contemplate their encounters 
by conceptualising and framing 
their own viewpoint.

|| Match: The understudies need to 
make matches with their compan-
ions to impart their plans to one 
another. It is simply by conversing 
with one another connected with 
the undertaking given, one gains 
from one another.

|| Share: The understudies answer 
the educator's question and offer 
their thoughts two by two with 
the entire class. The introduction 
of thoughts as a couple assist stu-
dents as they with turning out to 
be more agreeable as organisation 
support is in it.

71.	 Option (4) is correct.
Explanation: Utilisation of un-
healthy food inconveniently affects 
youngsters' prosperity. From greasy 
liver illness to metabolic issues, the 
repercussions are significant. Expect 
low quality food by youngsters these 
days who experience the ill effects 
of stoutness implies overweight and 
sickliness.
Unhealthy food can be engaging for 
various reasons, including comfort, 
cost and taste. For kids, who don't 
necessarily comprehend the well- 
being outcomes of their dietary pat-
terns, unhealthy food might show 
up particularly tempting. In any 
case, consistently eating swelling 
low-quality food can be habit-form-
ing for youngsters and lead to com-
plexities like corpulence, ongoing 
sickness, low confidence and even 
discouragement, as well as influenc-

ing how they act in school and extra-
curricular exercises.

72.	 Option (2) is correct.
Explanation: At the very beginning 
of a child's development, mapping 
skills  is critical in primary education. 
Environmental Studies accomplishes 
this goal in a desired way because it 
teaches students how to read maps, 
which enables them to comprehend 
the relative positions of locations de-
picted on the map.

73.	 Option (2) is correct.
Explanation: Gujarat is in the north-
west direction. Bihar is in the north-
east direction.
Bihar is in North-east direction.

74.	 Option (3) is correct.
Explanation: Art Integrated Learn-
ing (AIL) is a teaching-learning 
model based on learning "through 
the arts" and "with the arts." It is a 
process in which art becomes the 
teaching-learning medium, a key to 
understanding curriculum concepts 
in any subject.
Field trips are by and large seen by 
instructors as valuable to educating 
and learning, and by understudies as 
a loved option. In contrast to home-
room directions, instructive exami-
nation lays out a more complicated 
picture. At the point when education-
al systems request verification of the 
instructive worth of field trips, huge 
holes intermittently exist between 
field trip hypothesis and practice.

75.	 Option (1) is correct.
Explanation: The environment is 
the natural and human-made en-
vironmental factors that affect and 
support life on the planet. The envi-
ronment is made up from different 
physical, chemical, and natural parts 
that interact with one another and 
with human activities. The environ-
ment is also influenced by social, eco-
nomic, political, and cultural factors 
that shape human values, attitudes, 
behaviors, and institutions. Environ-
mental studies is the academic field 
that systematically focuses on the en-
vironment and its issues from a multi-
disciplinary and holistic perspective. 
Environmental studies incorporate 
knowledge from natural sciences, 
humanities, and social sciences to un-
derstand, analyze, evaluate, and ad-
dress the causes, consequences, and 
solutions of environmental issues.

76.	 Option (1) is correct.
Explanation: Abu al-Rayhan Mu-
hammad ibn Ahmad al-Biruni was a 
renowned philosopher, mathemati-
cian, historian, and one of the jewels 
in the court of Sultan Mahmud of 
Ghazni. He travelled to the Indian 
subcontinent and authored a study 
of Indian culture Kitab al-Hind or 
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Tahqiq-i-Hind (History of India) after 
exploring the Hindu faith practiced 
in India.
Ibn Battuta: Muhammad Ibn Battuta 
was a Moroccan traveler who left his 
home at the young age of 21 back in 
the 14th century to travel across the 
world. During his 30 years of trav-
el exploration, he visited around 44 
countries, including India. His travel 
accounts are published in the book 
‘Rihla’ – My Travels, a part of which 
is devoted to his experience in India.

77.	 Option (4) is correct.
Explanation: Swiss philosopher Jean 
Piaget was his name. In addition, he 
was a natural scientist who became 
well-known for his research into 
cognitive development and learning 
theories, which he included in his 
concept of "genetic epistemology." 
Quite early in life of eleven he went to 
secondary school in Switzerland Lat-
in wherein one of his short pieces was 
the beginning of his logical profession. 
Piaget's hypothesis of constructivism 
influences learning educational pro-
gram since educators need to make 
an educational program arrangement 
which upgrades their understudies' 
consistent and calculated develop-
ment. The significance of student 
education experiences—or connec-
tions to the surrounding environ-
ment—must be stressed by teachers. 
Teachers, for instance, need to keep 
in mind how fundamental ideas like 
objects' permanence contribute to the 
development of cognitive structures.

78.	 Option (3) is correct.
Explanation: Suryamani belonged 
to the community of forest dwellers 
(adivasis) who lived in forests. Their 
livelihood depended on the forest. 
They gathered leaves and herbs to 
sell them as medicines in the markets, 
or made baskets out of bamboo and 
fallen leaves.

79.	 Option (4) is correct.
Explanation: Learning is an exhaus-
tive cycle which alludes to an ad-
justment of conduct, information, 
and abilities because of training and 
experience.
The best technique to show the idea 
of germination of a seed is to make 
understudies plant seeds and notice 
germination as encountering the re-
sults of one's own decisions helps 
understudies in:

|| holding data and ideas for a more 
drawn out period.

|| upgrading abilities and better 
comprehension of the idea.

|| supporting their interest and in-
terest in the educational experi-
ence.

|| acquiring substantial experience 
by effectively captivating with 
content.

|| acclimatizing useful information 
by applying hypothetical infor-
mation.

Thus, it very well may be reasoned 
that the best technique to show the 
idea of germination of a seed is to 
make understudies plant seeds and 
notice germination.

80.	 Option (2) is correct.
Explanation: Atmospheric pressure 
decreases with altitude. The atmos-
pheric pressure at high altitudes, such 
as on mountains, is lower. Although 
there is no change in blood pressure, 
the walls of the nasal arteries are thin 
and may rupture due to the inability 
to withstand blood pressure, leading 
to bleeding.

81.	 Option (1) is correct.
Explanation: Kilimanjaro, volcanic 
massif in northeastern Tanzania, close 
to the Kenya line. Its focal cone, Kibo, 
ascends to 19,340 feet (5,895 meters) 
and is the most noteworthy point in 
Africa. Kilimanjaro lies around 100 
miles (160 km) east of the East Afri-
can Fracture Framework and around 
140 miles (225 km) south of Nairobi, 
Kenya.
Mount Fuji, most noteworthy moun-
tain in Japan. It ascends to 12,388 feet 
(3,776 meters) close to the Pacific Sea 
coast in Yamanashi and Shizuoka ken 
(prefectures) of focal Honshu, around 
60 miles (100 km) west of the To-
kyo-Yokohama metropolitan region. 
A spring of gushing lava has been 
lethargic since its last emission, in 
1707, yet is still commonly delegated 
dynamic by geologists. The mountain 
is the significant element of Fuji-Ha-
kone-Izu Public Park (1936), and it 
is at the focal point of an UNESCO 
World Legacy site assigned in 2013.

82.	 Option (4) is correct.
Explanation: Inferences are guesses 
based on evidence. They are the con-
clusions a reader draws from what is 
actually stated about the unspoken. 
Inferences made while reading are 
similar to those made in daily life. 
For instance, if your best friend re-
turns from a blind date looking com-
pletely depressed, you would likely 
conclude that the date was unsuc-
cessful. Similarly, drawing inferenc-
es while reading requires the same 
willingness to examine evidence and 
arrive at conclusions that may not be 
explicitly stated.

83.	 Option (2) is correct.
Explanation: Environmental studies 
help children understand how things 
work and interact with the world 
around them. It integrates knowl-
edge from environmental education, 
social sciences, and natural sciences 
at the primary level.

84.	 Option (4) is correct.
Explanation: The actual distance be-
tween the two cities is 3.05 km.

85.	 Option (1) is correct.
Explanation: The Earth's crust com-
prises 1%, the core comprises 15%, 
and the mantle comprises 84% of its 
total volume.
The interior of the Earth consists of 
several concentric layers, namely the 
crust, mantle, outer core, and inner 
core, each significant due to their 
unique physical and chemical prop-
erties.
The crust is composed of silicate sol-
ids, the mantle is a viscous molten 
rock, the outer core is a viscous liquid, 
and the inner core is a dense solid.

86.	 Option (2) is correct.
Explanation: The Dead Sea has at-
tracted visitors from around the 
Mediterranean Basin for thousands 
of years. It was one of the world's 
first health resorts, and it has been 
the supplier of a wide variety of 
products, from asphalt for Egyptian 
mummification to potash for fertiliz-
er’s. Today, tourists visit the sea on 
its Israeli, Jordanian and West Bank 
coastlines. 
The extremely high salt concentra-
tion in the Dead Sea, about 10 times 
saltier than most oceans, makes it 
exceptionally buoyant. This high salt 
content makes it nearly impossible to 
sink, and instead, you'll find yourself 
floating effortlessly on the surface.

87.	 Option (4) is correct.
Explanation: Children gain a better 
understanding of consent and devel-
op healthy relationships as a result 
of being taught about good and bad 
touch. It encourages empathy and 
communication, teaches them to 
recognise and respect others' bound-
aries. Understanding these concepts 
contributes to the development of 
healthy relationships throughout 
their lives. Students need to under-
stand that not all physical contacts 
are positive. A good touch feels com-
forting and safe, incorporating caring 
gestures like a pat on the back, hugs, 
handshakes, and so on. It is a healthy 
touch when an adult touches you in 
a way that makes you feel safe and 
secure, promoting a sense of well- 
being and security in children.

88.	 Option (1) is correct.
Explanation: These three are poor 
conductors of heat:-wool, plastic, 
wood.
Reason: Non-metals like wood, tex-
tiles, and plastic don't have free elec-
trons that can scatter about to con-
duct heat, unlike metals.

89.	 Option (3) is correct.
Explanation: Vygotsky was a pivotal 
figure in Soviet psychology. He stud-
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ied children and came up with his 
own ideas about how learning hap-
pens. He was of the opinion that there 
are three distinct phases to learning: 
cognitive, motor, and sociocultur-
al. Motoric learning involves doing 
things, cognitive learning involves 
thinking about concepts and ideas, 
and sociocultural learning involves 
interacting with others. According to 
Vygotsky's theory, each stage builds 
on the one before it and adults can 
learn from watching children. He 
likewise accepted that kids learn 
through play, and that play is a type 
of sociocultural learning. His work is 
now a part of everything that is con-
temporary. psychology.

90.	 Option (3) is correct.
Explanation: Evaluation devices are 
the strategies for deciding an under-
study's scholastic capacities, familiari-
ty, and abilities in a specific branch of 
knowledge, as well as their advance-
ment towards scholarly capability in 
that branch of knowledge.
Key Points Formative evaluation al-
ludes to the appraisal for checking 
the understudy's advancement all 
through the learning and educating 
process.

|| It basically centers around finding 
and diagnosing understudies' re-
quirements as opposed to evaluat-
ing and positioning them.

|| Tasks, projects, portfolios, narra-
tive records, rating scales, tests, 
and so on are the suitable devices 
for developmental evaluation.

|| Episodic records-A recounted re-
cord is an exhaustive elucidating 
story that is recorded after a par-
ticular way of behaving or connec-
tion of kids.

|| It helps the educator in arranging 
learning exercises, giving data to 
families, and perceiving learning 
holes.

|| They are utilised to monitor ex-
plicit perceptions of understudies' 
activities, abilities, and mentalities.

Language-I : English

91.	 Option (4) is correct.
Explanation: The word "and" in the 
sentence "Pat gave a little gasp and I 
braked at once" functions as a con-
junction because it connects two 
independent clauses, indicating a 
coordination between the actions. It 
links the gasp expressed by Pat and 
the immediate braking action taken 
by the speaker.

92.	 Option (3) is correct.
Explanation: From the passage, Bill 
hesitated because of recent hold-ups 
(suggesting robbery) and because of 
the cold which might prevent the car 
from starting. However, there is no 

mention that Bill hesitated because 
Pat, a woman, was sitting beside him. 
Therefore, the incorrect statement is: 
(3)

93.	 Option (4) is correct.
Explanation: Statement (a) is cor-
rect because Pat shows boldness 
and compassion towards the person 
who was bleeding from the accident. 
Statement (b) is correct because Bill is 
protective towards his sister and not 
timid. Statement (c) is incorrect be-
cause the car was not by the sidewalk. 
Therefore, the correct answer is (4). 

94.	 Option (3) is correct.
Explanation: The phrase "he loomed 
up in front of" means "appeared," 
implying that the figure suddenly 
became visible in a large or threaten-
ing manner. It indicates a sudden and 
noticeable appearance, which aligns 
with the context of the passage where 
the man is suddenly seen by the car. 

95.	 Option (3) is correct.
Explanation: From the passage, it 
mentions that Bill wasn't taking any 
chances with "Pat, my sister," so the 
correct answer is (3).

96.	 Option (2) is correct.
Explanation: The passage mentions 
of snowfall and a ditch along the 
road, causing Bill to drive carefully. 
These conditions made the road dan-
gerous, prompting Bill to be cautious 
in his drive to avoid potential acci-
dents or getting stuck. 

97.	 Option (3) is correct.
Explanation: The stranger was badly 
hurt, as it mentions he was bleeding 
from a cut in his ear (a is incorrect). 
Bill saw the car, stopped, and then 
saw the injured man (b is correct).

98.	 Option (1) is correct.
Explanation: The underlined clause 
"It was then that I saw the car" is an 
adverbial clause. It functions to indi-
cate the time or circumstance under 
which the speaker saw the car. Spe-
cifically, it modifies the verb "saw" 
by providing additional information 
about when the action occurred.

99.	 Option (4) is correct.
Explanation: The word "gradually" 
indicates a slow or gentle manner of 
stopping. Suddenly indicates quickly 
and unexpectedly. Hence, the correct 
answer is 4. 

100.	 Option (4) is correct.
Explanation: The expression "I prith-
ee now..." means "I request you." It is 
a polite and somewhat formal way of 
asking someone to do something. The 
word "prithee" is an archaic form of 
"pray thee," used to make a request 
or ask a favour politely, often in 
older English literature or historical 
contexts.

101.	 Option (3) is correct.
Explanation: Robin Hood met the 
Bishop in the church. This setting is 
significant in the context of the pas-
sage where Robin Hood and the Bish-
op interact regarding the wedding 
ceremony and the role of the bride 
in making her own choice.

102.	 Option (2) is correct.
Explanation: The expression "Did 
shine like glistening gold" uses a 
simile. A simile compares two unlike 
things using "like" or "as" to create 
a vivid image. Here, the compari-
son enhances the description of the 
finikin lass's appearance by likening it 
to the shining brilliance of gold.

103.	 Option (4) is correct.
Explanation: Based on the passage: 
(a) The Bishop did ask Robin Hood 
the purpose of his visit. (b) Robin 
Hood did pretend to be a musician. 
Therefore, the correct answer is: Both 
(a) and (b) are right. This reflects ac-
curately what occurred in the inter-
action between Robin Hood and the 
Bishop as described in the passage.

104.	 Option (1) is correct.
Explanation: Statement 1 is incorrect 
because the passage suggests the 
bride was involved in choosing her 
own dear (likely eagerly anticipat-
ing or participating in the wedding). 
Statements 2, 3 and 4 align with the 
passage. 

105.	 Option (2) is correct.
Explanation: The events in the 
church were related to a wedding cer-
emony, as Robin Hood intervenes in 
the proceedings involving the bride, 
bridegroom, and the Bishop.

106.	 Option (3) is correct.
Explanation: As a teacher posted 
in a Punjabi-speaking area without 
knowing the local language, using 
the child's language (Punjabi) as a re-
source helps bridge the language gap. 
This approach respects and leverages 
the students' linguistic background to 
facilitate learning.

107.	 Option (2) is correct.
Explanation: Scaffolding refers to 
the support given to a student by an 
adult or peer to help them accom-
plish a task they cannot complete 
independently. It involves guiding 
the student step-by-step, allowing 
them to eventually perform the task 
on their own.

108.	 Option (1) is correct.
Explanation: Language acquisition 
occurs primarily through exposure 
to the language, whether through 
listening or reading. This exposure 
allows children to naturally absorb 
and internalise language patterns 
and vocabulary.
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109.	 Option (3) is correct.
Explanation: A textbook is designed 
to align with the curriculum objec-
tives, providing structured content 
and activities that facilitate learning 
and achievement of educational goals 
outlined in the curriculum.

110.	 Option (1) is correct.
Explanation: Asking students to 
read a text thoroughly and then an-
swer questions with reference to the 
context (RTC) encourages intensive 
reading. This approach focuses on 
detailed comprehension of the text, 
fostering deeper understanding and 
analysis

111.	 Option (3) is correct.
Explanation: Local comprehension 
involves reading a text closely to 
extract specific information directly 
stated in the text. It focuses on details, 
facts, and specific pieces of informa-
tion that are explicitly mentioned.

112.	 Option (2) is correct.
Explanation: The deductive approach 
to teaching grammar begins with pre-
senting rules first. This method in-
volves explaining grammatical rules 
and concepts directly to students 
before applying them in practice. It 
aims to provide clear understanding 
and context for language usage.

113.	 Option (1) is correct.
Explanation: Extrapolation is the 
process of estimating or predicting 
beyond the known data or facts. It 
involves extending existing trends 
or patterns to forecast future values 
or outcomes. This method is often 
used in various fields, such as statis-
tics, science, and economics, to make 
educated guesses based on existing 
information.

114.	 Option (1) is correct.
Explanation: The Direct Method, 
also known as the Natural Method, 
is characterised by excluding the 
mother tongue in the classroom. 
This approach focuses on immersion 
in the target language, encouraging 
students to think and communicate 
directly in the new language without 
relying on translation.

115.	 Option (3) is correct.
Explanation: The communicative ap-
proach is a method of language teach-
ing which makes learners confident 
to communicate effectively by involv-
ing them in real communication. In 
this scenario, appreciating a child for 
overall language use despite some 
misspellings aligns with the commu-
nicative approach. It emphasises ef-
fective communication and language 
use in meaningful contexts, valuing 
comprehension and expression over 
strict accuracy in isolated language 
features like spelling. 

116.	 Option (2) is correct.
Explanation: Free writing encour-
ages learners to express themselves 
without strict constraints on correct-
ness, fostering fluency and creativity 
in writing. It promotes confidence 
and the exploration of language use 
without the pressure of accuracy.

117.	 Option (3) is correct.
Explanation: Concept learning in-
volves understanding and applying 
abstract concepts or principles. It 
requires higher-order thinking skills 
such as reasoning, problem-solving, 
and critical thinking to grasp and uti-
lise new ideas or categories effectively 
in different contexts.

118.	 Option (4) is correct.
Explanation: Role-playing helps de-
velop oral language by engaging stu-
dents in interactive and meaningful 
communication. It encourages them 
to practice speaking, listen to others, 
and use language in various contexts, 
promoting fluency and confidence in 
oral expression.

119.	 Option (4) is correct.
Explanation: Saying "language is ar-
bitrary" means that there is no natu-
ral or inherent connection between 
the words and their meanings. The 
meanings of words are assigned by 
social conventions and agreements 
within a linguistic community, not 
by any logical or inherent association.

120.	 Option (4) is correct.
Explanation: The purpose of a diag-
nostic test in language learning is to 
identify students' specific strengths 
and weaknesses. This information 
helps teachers understand where 
students are struggling and plan 
targeted interventions or remedial 
activities to address those gaps and 
improve learning outcomes.

Language-I : Hindi

91.	 fodYi (4) mfpr gSA
O;k[;kµfn, x,  x|ka'k ds vuqlkj] ekuoh; 
laosnuk] fuHkZ;rk vkSj vPNs deZ* ,d jktk 
cuus ds vfuok;Z xq.k ekus x, gSaA ysfdu 
x|ka'k esa ;g Li"V rkSj ij fy[kk gS fd ,d 
jktk dks vU;k;] v/keZ vkfn ls Hk;Hkhr gq, 
fcuk lekurk dh lÙkk cukuh pkfg, vr% 
/keZHkh: gksuk* ,d jktk cuus dk vfuok;Z 
xq.k ugha gS A

92.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vuqlkj eu dk 
jktk gksus dk vFkZ gS vius eu ij Lo;a 
vadq'k j[kukA ̂ vadq'k* dk vFkZ gksrk gS fu;a=.k 
djuk*A vFkkZr~ eu dk jktk rHkh cuk tk 
ldrk gS tc balku vius eu dks fu;af=r j[ksA

93.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, x|ka'k esa jktk ds xq.kksa dh 
ppkZ djrs gq, crk;k x;k gS fd jktk dks 
'kq¼ fopkjksa vkSj vPNs deZ okyk gksuk pkfg,A

94.	 fodYi (3) mfpr gSA
O;k[;kµ^v/;kRe* 'kCn esa ^bd* çR;; dk 
ç;ksx fd;k tk ldrk gSA v/;kRe esa ^vf/k* 
milxZ gS vkSj ^vkRe* ewy 'kCn gS A bd 
çR;; yxus ls ewy 'kCn dk igyk o.kZ ^v* 
vius nh?kZ :i ^vk* esa cny tkrk gS vkSj 
^vk/;kfRed* 'kCn curk gS ftldk vFkZ gksrk 
gS vkRek dk ijekRek dk lEcU/kA

95.	 fodYi (3) mfpr gSA
O;k[;kµfn, x, x|ka'k esa 'kq¼ fopkjksa] vPNs 
deks± vkSj ekuoh; laosnuk dk jktk cuus dh 
ckr dgh xbZ gS] ftlds fy, v/;kRe dh jkg 
ij vxzlj gksuk vko';d gSA v/;kRe og jkg 
gS ftl ij pydj vius eu dks fu;af=r 
djrs gq, fodkjksa ls nwj jgk tk ldrk gS A

96.	 fodYi (2) mfpr gSA
O;k[;kµlaiw.kZ x|ka'k dk ewy fo"k;oLrq 
vk/;kfRed cuus ds Hkko ij dsafær gSA eu 
ds fodkjksa dks nwjdj fopkjksa esa lqanjrk vkrh 
gS] ysfdu O;fä lgh ek;us esa v/;kRe ds 
{ks= dk jktk rHkh cu ldrk gS tc og bl 
{ks= dk iafMr cu tk, vFkkZr~ og oSpkfjd 
:i ls çcq¼ cu tk, A

97.	 fodYi (4) mfpr gSA
O;k[;kµ x|ka'k esa viuk y{; fu/kkZj.k djus 
vkSj mldks çkIr djus ds fy, ç;Ru djus 
dh ckr dh xbZ gSA euq"; dks vius fu/kkZfjr 
y{; dh çkfIr rHkh gks ldrh gS tc og ,dkxz 
gksdj ç;Ru djs] vius fopkjksa dks b/kj&m/kj 
HkVdus ls jksdsA ,slk rHkh gks ldrk gS tc 
og vius fopkjksa dks fu;a=.k esa j[k ldsA 
bl dkj.k ^vadq'k* fcYdqy lVhd mÙkj gSA

98.	 fodYi (1) mfpr gSA
O;k[;kµfn, x, x|ka'k esa ;g Li"V rkSj 
ij crk;k x;k gS] fd vU;k; vkSj v/keZ ls 
Hk;Hkhr ugha gksuk pkfg, cfYd ,d ,slh lÙkk 
dk fuekZ.k djuk pkfg, ftlesa lHkh ds lkFk 
lekurk ds vk/kkj ij O;ogkj fd;k tk ldsA

99.	 fodYi (1) mfpr gSA
O;k[;kµlaKk rFkk loZuke dh fo'ks"krk crkus 
okys 'kCn ^fo'ks"k.k* dgykrs gSa vkSj fo'ks"k.k 
ftu 'kCnksa dh fo'ks"krk crykrs gSa mUgsa ̂ fo'ks";* 
dgrs gSaA ;gk¡ fn, x, fodYiksa esa oSpkfjd] 
vPNs rFkk ekuoh; 'kCn fo'ks"k.k gSa fdarq y{; 
,d laKk 'kCn gS A 

100.	 fodYi (3) mfpr gSA
O;k[;kµfge + vky; ¾ fgeky; (fge dk 
vafre o.kZ + vky; dk çFke o.kZ) vFkkZr~ 
( v + vk ¾ vk) ;g Loj laf/k ds miHksn 
nh?kZ laf/k dk mnkgj.k gS A
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101.	 fodYi (3) mfpr gSA
O;k[;kµfn, x, i|ka'k dh igyh iafä esa 
xkaèkh] fryd] lqHkk"k vkSj tokgj dk mYys[k 
fd;k x;k gSA ysfdu iwjs i|ka'k esa dgha Hkh 
lq[knso] jktxq# vkSj paæ'ks[kj vktÛkn dk 
dgha Hkh mYys[k ugha gksus ds dkj.k fodYi 
(3) vFkkZr~ egkRek xka/kh mfpr gSA

102.	 fodYi (2) mfpr gSA
O;k[;kµohj 'kCn vius cgqopu :i esa ̂ ohjksa* 
cu tkrk gS tcfd ohjkaxuk ohj 'kCn dk 
L=hfyax :i gS] ohj ;Fkkor fodYi gS vkSj 
ohjk iatkch Hkk"kk dk ,d 'kCn gS ftldk 
vFkZ gksrk gS& HkkbZ A

103.	 fodYi (4) mfpr gSA
O;k[;kµi|ka'k dh rhljh vkSj pkSFkh iafä 
esa Hkkjr dh fo'ks"krkvksa dk o.kZu fd;k x;k 
gSA ;fn mÙkj esa çgjh ds lkFk fgeky; 'kCn 
tksM+ fn;k tkrk rks ;g fodYi Hkh laHkkfor gks 
ldrk Fkk] ysfdu nf{k.k esa fgan egklkxj dk 
mYys[k djus ds dkj.k fodYi (4) fcYdqy 
lVhd mÙkj gS A

104.	 fodYi (3) mfpr gSA
O;k[;kµi|ka'k dh vafre iafä esa ohj 'kghnksa 
ds cfynku dk mYys[k fd;k x;k gSA buds 
cfynkuksa ds dkj.k gh gesa Lora=rk feyh gSA 
ns'k ds ohj tokuksa us bl ns'k dks Lora= 
djkus ds fy, g¡lrs g¡lrs vius thou cfynku 
dj fn, gSa A

105.	 fodYi (1) mfpr gSA
O;k[;kµgekjk I;kjk ns'k Hkkjr çkphu dky ls 
^ft;ks vkSj thuks nks* ds ewyea= dk vuqlj.k 
djrk jgk gS vkSj blus iwjh nqfu;k dks Hkh 
;gh lans'k fn;k gSA

106.	 fodYi (3) mfpr gSA
O;k[;kµç'u esa Li"V rkSj ij ;g crk jgk gS 
fd ;gk¡ fganh Hkk"kk ds v/;kid dh ckr ugha 
dh tk jgh gS cfYd v/;kid dk fganh Hkk"kh 
gksuk egÙoiw.kZ gSA ,d fganh Hkk"kh v/;kid dks 
fdlh nwljs çns'k dh LFkkuh; Hkk"kk lh[kus ds 
fy, cPpksa dh Hkk"kk dks ,d lalk/ku ds :i 
esa bLrseky djuk pkfg, rHkh og f'k{k.k esa 
lgh laçs"k.k djus esa l{ke gksxk A

107.	 fodYi (2) mfpr gSA
O;k[;kµekul eaFku djus ds ckn Hkh ckfydk 
vuqPNsn ugha fy[k ikus dh fLFkfr esa vius 
o;Ld ;k lgikBh ls ekxZn'kZu ysrh gSA bl 
rjg ds ekxZn'kZu dks f'k{kk'kkL= fd Hkk"kk esa 
enn (LdkQksfYMax) dgk tkrk gSA LdkQksfYMax 
,d çHkkoh f'k{k.k fof/k gS tks Nk=ksa dks u, 
dkS'ky vkSj tkudkjh lh[kus esa enn djus 
ds fy, vLFkk;h leFkZu çnku djrh gSA

108.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk vtZu ml çfØ;k dks dgrs 
gSa ftlds }kjk euq"; Hkk"kk dks xzg.k djus 
,oa le>us dh {kerk vftZr djrk gS rFkk 
ckrphr djus ds fy, 'kCnksa ,oa okD; dk 

ç;ksx djrk gSA ;g ,d çkÏfrd çfØ;k gS 
ftlls ge vklikl ds okrkoj.k ;k vklikl 
ds yksxksa ds ek/;e ls lh[k tkrs gSaA Hkk"kk 
vtZu esa fdrkc vkSj O;kdj.k dh tÛ:jr 
ugha iM+rhA bl fo'ys"k.k ds dkj.k ;g lcls 
mfpr fodYi gS A

109.	 fodYi (3) mfpr gSA
O;k[;kµikBî iqLrd ikBîp;kZ esa mYysf[kr 
mís';ksa dks çkIr djus esa enn djrh gS ;g 
lcls mfpr fodYi gSA vxj nwljs fodYiksa 
dks ns[kk tk, rks ikBî iqLrd dk LFkku 
uksV~l vkfn Hkh ys ldrs gSa vkSj v/;kid 
vkSj fo|kFkhZ ds fy, ikBî iqLrd ,dek= 
egÙoiw.kZ lkexzh ugha gS] iBu ikBu ds fy, 
vfrfjä lkefxz;ksa dk Hkh mi;ksx fd;k tk 
ldrk gSA ikBî iqLrd 'kSf{kd xfrfof/k;ksa 
dh ;kstuk dk ,d vax gSa A

110.	 fodYi (2) mfpr gSA
O;k[;kµfo|kfFkZ;ksa dks ikB lkexzh vPNh rjg 
i<+us ds ckn lanHkZ vkSj çlax dks /;ku esa 
j[krs gq, ç'u dk mÙkj nsus ds fy, dguk 
xgu iBu ds varxZr vkrk gSA foLr`r iBu 
ds ek/;e ls Nk= viuh :fp ds fo"k; dks 
Lora= :i ls i<rk gSA bl iBu ds fy, 
og 'kCndks'k ;k f'k{kd ij fuHkZj ugha djrkA 
ljljh rkSj ls iBu lkjka'k fy[kus ds fy, 
fd;k tkrk gSA ckjhdh ls iBu xgu iBu 
dk ,d va'k gSA

111.	 fodYi (4) mfpr gSA
O;k[;kµfdlh ikBî lkexzh ls fof'k"V lwpuk 
fudkyus ds mís'; ls xgu iwoZd ;k xgjkbZ 
ls ml ikBî lkexzh dks i<+us dk dkS'ky 
fu"d"kkZRed cks/k gSA

112.	 fodYi (3) mfpr gSA
O;k[;kµySaMu ds vuqlkj O;kdj.k i<+kus dk 
fuxeukRed mikxe vuq'kalk djrk gS fd 
gesa lcls igys fu;e çLrqr djus pkfg, A 
bl f'k{k.k esa loZçFke ifjHkk"kk ;k fl¼kar 
;k fu;e dk lh[kuk lqfuf'pr fd;k tkrk 
gS fQj lko/kkuhiwoZd mldk vFkZ Li"V fd;k 
tkrk gS A

113.	 fodYi (1) mfpr gSA
O;k[;kµrF;ksa ls dgha vkxs tkdj 
vuqeku yxkus dk lokZf/kd mfpr rjhdk 
ikBî lkexzh dk foLrkj ;k ,DLVªkiksys'ku gSA 
,DlVªkiksys'ku dk eryc gS ekStwnk tkudkjh 
ls dqN ,slk vuqeku yxkuk tks Li"V :i ls 
ugha crk;k x;k gks A 

114.	 fodYi (1) mfpr gSA
O;k[;kµçR;{k fof/k esa ckyd dh ekr`Hkk"kk 
dks LFkku fn, fcuk mls vU; Hkk"kk fl[kkbZ 
tkrh gS vFkkZr~ ekr`Hkk"kk dh lgk;rk ugha 
ysdj cfYd fo|kFkhZ dks ekSf[kd ,oa fyf[kr 
vH;kl }kjk ubZ Hkk"kk fl[kkbZ tkrh gSA blesa 
{ks=h; Hkk"kk dk ç;ksx Hkh ugha fd;k tkrk gSA

115.	 fodYi (2) mfpr gSA
O;k[;kµlexz Hkk"kk mikxe cPpksa ds Hkk"kkbZ 
fodkl dh Li"V le> ij cy nsrh gSA cPpksa 
}kjk 'kCnksa dh xyr orZuh fy[kus ds ckotwn 
Hkk"k.k fodkl ds Li"V le> gksus ds dkj.k 
mlds dqy Hkk"kk ç;ksx ds fy, v/;kid 
mldh ç'kalk djrs gSa A

116.	 fodYi (2) mfpr gSA
O;k[;kµfopkjksa dks vfHkO;ä djus esa fopkj 
vkSj Hkk"kk nksuksa dk egÙoiw.kZ ;ksxnku gksrk gSA 
LoPNan ys[ku f'k{kkfFkZ;ksa dks çokg ds lkFk 
jpukRed rjhds ls fy[kus ds fy, çksRlkfgr 
djrk gS A

117.	 fodYi (3) mfpr gSA
O;k[;kµKku vkSj dkS'ky oSpkfjd le> ds 
xgjs Lrj ds fy, vk/kkj çnku djrs gSaA 
voèkkj.kk&vk/kkfjr d{kk esa Nk=ksa dh lksp dks 
fupys ls mPp oSpkfjd Lrjksa rd ys tkus ds 
fy, mPp ekufld  çfØ;kvksa tSls cqf¼ ;k 
rdZ djuk vkfn dk ç;ksx fl[kk;k tkrk gSA

118.	 fodYi (1) mfpr gSA
O;k[;kµfo|kfFkZ;ksa esa ekSf[kd Hkk"kk ds fodkl 
ds fy, d{kk esa fd, x, vH;kl ds varxZr 
u, ;k vifjfpr 'kCnksa ds lgh mPpkj.k dk 
vH;kl djuk loZFkk mfpr fodYi gS A

119.	 fodYi (4) mfpr gSA
O;k[;kµ;kn`fPNd dk vFkZ gS ̂ tSlh bPNk gks* 
vFkkZr~ ekuk gqvkA lkekU; Hkk"kk esa bldk vFkZ 
csrjrhc gksuk gksrk gS vFkkZr~ fdlh Hkh fo'ks"k 
/ofu dk fdlh fo'ks"k vFkZ ls dksbZ lEcU/k 
ugha gksrkA bl çdkj ge ;g dg ldrs gSa 
fd ;kn`fPNd Hkk"kk esa 'kCnksa vkSj muds vFkks± 
ds chp fdlh çdkj dk varfuZfgr lEcU/k 
ugha gksrk gSA

120.	 fodYi (4) mfpr gSA
O;k[;kµfunkukRed ijh{k.k mipkjkRed 
f'k{k.k dh çfØ;k gS ftlesa f'k{kkFkhZ esa viuh 
Hkk"kk lEcU/kh xyfr;ksa dks Lo;a igpkuus dh 
;ksX;rk fodflr gksrh gSA blls Nk=ksa dh 
miyfC/k ds Lrj esa lq/kkj gksrk gS tks f'k{k.k 
vf/kxe çfØ;k dk y{; gSA bl ijh{k.k ds 
ek/;e ls cPpksa dh le> esa jg x, varj dks 
tkudj mipkj vkRed dne mBk, tkrs gSaA

Language-II : English

121.	 Option (4) is correct.
Explanation: The passage mentions 
that the express lift at Moscow Uni-
versity allowed for a brief experience 
of weightlessness, simulating zero 
gravity, which was beneficial for 
Gagarin's training.

122.	 Option (1) is correct.
Explanation: According to the pas-
sage, Gagarin woke up at 5.30, not 
5.00 (statement a is wrong). He wore 
a pale blue fibre suit, not a blue space 
suit (statement b is wrong). However, 
he did travel in space in the Vostok 
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spacecraft (statement c is right). This 
option accurately reflects the details 
provided in the passage regarding 
Gagarin's activities on April 12.

123.	 Option (2) is correct.
Explanation: Gagarin is famously 
known as the first human to travel 
into space, aboard the Vostok space-
craft on April 12, 1961, making him a 
historic space traveller.

124.	 Option (3) is correct.
Explanation: "Beneath" is used to 
indicate the position of something 
lower than another object (in this 
case, the world below), making it a 
preposition.

125.	 Option (4) is correct.
Explanation: According to the pas-
sage, Gagarin recited poetry to him-
self in solitary confinement (not nec-
essarily a poet in private life), and the 
darkened room lacked movement of 
air, not air itself.

126.	 Option (1) is correct.
Explanation: The phrase "and he en-
tered the cabin" is a coordinate clause 
because it joins two independent 
clauses ("and" is a coordinating con-
junction here), each capable of stand-
ing alone as a complete sentence.

127.	 Option (4) is correct.
Explanation: The passage describes 
Gagarin's confinement in a dark room 
as part of an ordeal and training ex-
periment, not as punishment or for 
meditation purposes.

128.	 Option (4) is correct.
Explanation: "Handy" means con-
venient or easily accessible, similar 
to the meaning conveyed by "con-
venient" in the passage.

129.	 Option (1) is correct.
Explanation: There is no specific 
mention in the passage about chil-
dren being given pocket money on 
the fair day. Therefore, statement (a) 
is likely wrong. The passage mentions 
that children travelled in a separate 
cart, not necessarily with their par-
ents. This suggests statement (b) 
could be wrong because it assumes 
they travelled with parents. The pas-
sage states that the writer's father's 
clients, who were likely well-to-do 
villagers, arranged bullock carts for 
them to attend the fair. This implies 
that well-to-do villagers did indeed 
oblige the writer's father. Therefore, 
the correct answer is (1).

130.	 Option (3) is correct.
Explanation: The passage states that 
people visited the fair not only for di-
vine blessings but also for entertain-
ment and street-shows, not primarily 
for its market.

131.	 Option (4) is correct.
Explanation: The passage explicitly 
mentions that the narrator's home-

town had an annual fair held during 
the harvest season, which attracted 
devotees and entertainment seekers.

132.	 Option (4) is correct.
Explanation: Crowded means filled 
with many people or things closely 
packed together, which accurately re-
flects the meaning of "thronged" in 
the sentence, indicating a large num-
ber of people gathering at the fair.

133.	 Option (1) is correct.
Explanation: "Eagerly" means with 
enthusiasm and anticipation, so "in-
differently" (without interest or en-
thusiasm) is its opposite.

134.	 Option (4) is correct.
Explanation: According to the pas-
sage, the writer would hold his 
pockets tightly to prevent coins from 
spilling out during the journey, indi-
cating carefulness while traveling in 
the cart (Statement a). Additionally, 
despite the jerks and jolts of the cart, 
the writer found the journey en-
joyable, as described in the passage 
(Statement b).

135.	 Option (4) is correct.
Explanation: "Mud" describes the 
type of track leading to the village, 
making it an adjective modifying 
"track".

136.	 Option (3) is correct.
Explanation: Colouring and drawing 
activities at the primary level help 
develop fine motor skills in children, 
which involves the coordination of 
small muscles in hands and fingers, 
essential for tasks like writing.

137.	 Option (3) is correct.
Explanation: Learning outcomes 
specify what students should know, 
understand, and be able to do by the 
end of a course or class. They encom-
pass knowledge, skills, and attitudes 
that students are expected to acquire.

138.	 Option (1) is correct.
Explanation: A constructivist ap-
proach encourages group discussion 
and peer interaction to facilitate 
learning through active engagement. 
By not correcting errors immediately, 
the teacher promotes critical thinking 
and collaborative learning.

139.	 Option (4) is correct.
Explanation: Using pictures to initi-
ate discussion about different time 
frames (past and present) to teach 
tense is an example of using peda-
gogical grammar, which focuses on 
practical and effective language in-
struction methods.

140.	 Option (1) is correct.
Explanation: The first step in pre-
paring a Lesson Plan on 'Pollution' 
should be to frame clear and specif-
ic objectives. This helps in defining 
what students should achieve by the 

end of the lesson, guiding the content 
and activities.

141.	 Option (3) is correct.
Explanation: Language acquisition 
refers to the natural process of learn-
ing a language through exposure and 
use, without formal instruction or 
systematic practice.

142.	 Option (2) is correct.
Explanation: A proficient language 
teacher can create an environment 
conducive to language learning by 
providing clear instruction, meaning-
ful practice opportunities, and effec-
tive feedback. Their expertise helps 
scaffold learning, address challenges, 
and maintain student engagement, 
leading to more effective language 
acquisition by children.

143.	 Option (4) is correct.
Explanation: Linguistic competence 
refers to the ability to use language 
effectively, including knowing the 
rules of grammar, vocabulary, and 
understanding how to use language 
in various contexts and situations.

144.	 Option (1) is correct.
Explanation: Realia refers to real-life 
objects used in teaching to provide 
concrete examples and aid in under-
standing. By bringing objects like 
umbrella, raincoat, etc., the teacher 
engages learners in describing them, 
enhancing their language skills 
through practical, hands-on experi-
ence.

145.	 Option (2) is correct.
Explanation: Raju being the first 
in his family to attend school indi-
cates he belongs to the first genera-
tion of his family to receive formal 
education, distinguishing him as a 
first-generation learner.

146.	 Option (2) is correct.
Explanation: Communicative lan-
guage teaching emphasises interac-
tion and communication in the class-
room. One of its features involves 
learners working together in pairs or 
groups to solve problems, promoting 
collaborative learning and practical 
use of language in real-life contexts.

147.	 Option (4) is correct.
Explanation: When learners discuss 
and integrate knowledge from sci-
ence and social science classes into 
their writing on a topic like 'water', it 
demonstrates the application of lan-
guage skills across different subjects. 
This approach emphasises using lan-
guage as a tool for learning across var-
ious academic disciplines.

148.	 Option (3) is correct.
Explanation: Adapting the language 
and content of a lesson to suit the 
learners' proficiency level and un-
derstanding is called adaptation. This 
process ensures that the material is 
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accessible and meaningful to stu-
dents, facilitating effective learning.

149.	 Option (3) is correct.
Explanation: Your first language is 
typically the language you learned 
first and used in your early childhood 
environment, which, in this case, is 
Hindi, as it was spoken in your village 
before formal schooling.

150.	 Option (3) is correct.
Explanation: The arrangement of 
starting with rhymes and picture 
stories, which engage learners with 
overall themes and contexts first, and 
ending with the alphabet suggests 
a top-down approach in language 
pedagogy. This method emphasises 
understanding meaning and context 
before focusing on detailed elements 
like letters and sounds.

Language-II : Hindi

121.	 fodYi (2) mfpr gSA
O;k[;kµfn, x,  x|ka'k ds vuqlkj i;kZoj.k 
ds ladVksa ds çfr lcls TÛ;knk fpark dk fo"k; 
yksxksa vkSj ljdkjksa esa psruk dh deh gSA 
euq"; vius oSpkfjd Lrj ij bl ladV ds 
çfr tÛjk Hkh laosnu'khy ;k fpafrr ugha gS] 
blhfy, og bl ladV dks nwj djus ds fy, 
dksbZ Bksl dne Hkh ugha mBkrk gSA

122.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds var esa i;kZoj.k leL;k 
dks oSf'od leL;k dgk x;k gSA oSf'od 'kCn 
ns'k] egkns'k dh lhekvksa ls vkxs tkdj iwjs 
fo'o dks bl leL;k ds lkFk lanfHkZr djrk 
gSA i;kZoj.k leL;k iwjs lalkj dh leL;k gSA

123.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj lalk/kuksa ds 
va/kk/kqa/k ç;ksx dk çHkko ekSle] [ksrksa vkSj 
QÛlyksa ij iM+ jgk gSA ekSle dk pØ cnyus 
yxk gS ftldk lh/kk vlj [ksrh vkSj Qlyksa 
ij fn[kkbZ ns jgk gSA

124.	 fodYi (2) mfpr gSA
O;k[;kµ^Xysf'k;j* 'kCn Ýsap Hkk"kk ls fy;k 
x;k gS ftldk vFkZ gS ^cQÛZ*A vr% ;g Li"V 
:i ls dgk tk ldrk gS fd bls fganh Hkk"kk 
esa vkxr 'kCn dk ntkZ çkIr gSA

125.	 fodYi (2) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj i;kZoj.k ladV 
dk ,d çeq[k dkj.k gekjs jgu&lgu vkSj 
tÛ:jrksa esa vk;k xSjtÛ:jh cnyko gS A ftlds 
dkj.k ge lalk/kuksa dk va/kk/kqa/k bLrseky dj 
jgs gSaA i;kZoj.k laj{k.k dk lcls mi;qä 
mik; viuh vko';drkvksa esa deh djuk gS A

126.	 fodYi (3) mfpr gSA
O;k[;kµfo'o + bd ¾ oSf'odA ̂ bd* çR;; 
dk ç;ksx fo'ks"k.k cukus ds fy, fd;k tkrk 
gS] tks fdlh fo'ks"k xq.k ;k fLFkfr dks n'kkZrk 
gSA oSf'od dk vFkZ gksrk gS ^lEiw.kZ fo'o ls 
lEcfU/kr*A

127.	 fodYi (2) mfpr gSA
O;k[;kµmnkjhdj.k  lewps fo'o dks ,d 
oSf'od xk¡o esa ifjofrZr dj pqdk gSA ftlds 
ifj.kkeLo:i oLrq,¡ lgt :i ls miyC/k gks 
jgh gSaA lgt miyC/krk ds dkj.k vuko';d 
lqfo/kkvksa ds miHkksx esa o`f¼ gqbZ gSA lalk/kuksa 
ds vko';d miHkksx ds nj esa Hkh o`f¼ gqbZ gSA

128.	 fodYi (2) mfpr gSA
O;k[;kµftl laKk 'kCn ls inkFkZ dh voLFkk] 
Hkko ;k n'kk dk cks/k gks mls Hkkookpd laKk 
dgrs gSaA cpiu dk vFkZ gksrk gS ^cPps dh 
fLFkfr ;k voLFkk*A voLFkk dk cks/k djus 
ds dkj.k ^cpiu* 'kCn Hkkookpd laKk gSA

129.	 fodYi (3) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj vgadkj gekjs 
thou dh lgt vkSj ljyrk dks u"Vdj 
gesa fn[kkoVh thou dh vksj ys tkrk gSA

130.	 fodYi (4) mfpr gSA
O;k[;kµthou dk lEeku rHkh fd;k tk 
ldrk gS tc ge ckgjh fn[kkos ls nwj jgdj 
viuh lgtrk dks cuk, j[ksa A vxj ge vius 
thou dks mlh :i esa thrs gSa ftl :i esa ;g 
gesa feyk gS rc ;g thou ojnku cu tkrk 
gS vkSj thou dks ojnku cukuk gh mldk 
lPpk lEeku gS A

131.	 fodYi (2) mfpr gSA
O;k[;kµtc thou fcuk fdlh fn[kkos] çiap 
vkSj vgadkj ds ljy rjhds ls ft;k tkrk 
gS] rc gekjs thou esa [kqf'k;ksa dh jkSud Nk 
tkrh gSA

132.	 fodYi (3) mfpr gSA
O;k[;kµçiap dk lkekU; vFkZ gS >a>V] Ny–
diV ls Hkjk dk;Z] Nyiw.kZ dk;ZA x|ka'k esa 
çiap dks vkMacj 'kCn ls yf{kr fd;k x;k 
gSA nksuksa dk gh ç;ksx leku vFkZ esa gqvk gSA

133.	 fodYi (2) mfpr gSA
O;k[;kµthoarrk] lEeku vkSj ojnku laKk 
'kCn gSa tcfd ^thoUr* fo'ks"k.k gSA

134.	 fodYi (4) mfpr gSA
O;k[;kµv/keZ] vkMacj vkSj vgadkj Hkko gSa] 
tcfd vlgt fo'ks"k.k 'kCn gSA

135.	 fodYi (1) mfpr gSA
O;k[;kµ^vk/kkfjr* 'kCn dk vFkZ gksrk gS ^tks 
fdlh vk/kkj ij fVdk gqvk gS* ;k ^ftldk 
vk/kkj gks*A

136.	 fodYi (3) mfpr gSA
O;k[;kµlw{e xR;kRed dkS'ky lkekU;r% 
vk¡[k vkSj gkFk ds leUo; ds ek/;e ls 
fodflr gksrk gSA v/;kid tc çkFkfed 
Lrj ij vius f'k{kkfFkZ;ksa dks jax Hkjus vkSj 
fp=dkjh djus ds fy, çksRlkfgr djrk gS 
rks og f'k{kkfFkZ;ksa esa lw{e xR;kRed dkS'ky 
dk fodkl djus dk ç;kl dj jgk gksrk gSA

137.	 fodYi (3) mfpr gSA
O;k[;kµvf/kxe çfrQy ds ek/;e ls 
v/;kid ,d fuf'pr vof/k esa vius Nk=ksa 

ds  Kku ;k dkS'ky esa gq, ml fodkl dk 
fujh{k.k djrk gS tks Nk=ksa ds ikl ,d 
ikBîØe ;k bdkbZ ds var esa gksuk pkfg,A 
blds fy, v/;kid d{kk vkSj fo"k; ds 
vuqlkj dqN varfje fpÊksa dk fu/kkZj.k djrk 
djrk gS] rkfd Nk=ksa ds fodkl dk vkdyu 
dj ldsA bUgha varfje fpÊksa dks vf/kxe 
çfrQy dgrs gSaA

138.	 fodYi (1) mfpr gSA
O;k[;kµv/;kfidk vius f'k{k.k n`f"Vdks.k 
esa jpukoknh mikxe dk ç;ksx dj jgh gSA 
bl mikxe esa xyfr;ksa dks lh[kus dh çfØ;k 
dk fgLlk ekuk tkrk gSA bl mikxe esa lewg 
ppkZ vkSj lgikfB;ksa dh vUr%fØ;kvksa dks 
egÙoiw.kZ ekuk tkrk gSA

139.	 fodYi (2) mfpr gSA
O;k[;kµtc fo|kfFkZ;ksa dks ̂ dky* dh d{kk esa 
,d O;fä ds nks fp= fn[kk, tkrs gSa ftuesa 
ls ,d orZekudky dk gS vkSj nwljk Hkwrdky 
dk rc ;gk¡ ij funsZ'kkRed O;kdj.k dk ç;ksx 
fd;k tk jgk gSA blds ek/;e ls fo|kfFkZ;ksa 
dks Hkwrdky vkSj orZekudky dh ?kVukvksa 
ds chp varj le>us esa lgk;rk feyrh gSA

140.	 fodYi (1) mfpr gSA
O;k[;kµikB ;kstuk cukus esa igyk dne 
lh[kus ds mís';ksa dks ifjHkkf"kr djuk gSA 
blesa mu fof'k"V Kku vkSj dkS'kyksa dh igpku 
djuk 'kkfey gS tks Nk= ikB ds ifj.kkeLo:i 
çkIr djsaxsA blfy, çnw"k.k ij ikB ;kstuk 
cukus dk igyk pj.k mlds fy, lkekU; 
vkSj fof'k"V mís'; dk fu/kkZj.k djuk gksxk A

141.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk vtZu ml çfØ;k dks dgrs 
gSa ftlds }kjk euq"; Hkk"kk dks xzg.k djus 
,oa le>us dh {kerk vftZr djrk gS rFkk 
ckrphr djus ds fy, 'kCnksa ,oa okD;ksa dk 
ç;ksx djrk gSA ;g ,d çkÏfrd çfØ;k gS 
ftlls ge vklikl ds okrkoj.k ;k vklikl 
ds yksxksa ds ek/;e ls lh[k tkrs gSaA Hkk"kk 
vtZu esa fdrkc vkSj O;kdj.k dh tÛ:jr ugha 
iM+rh gSA bl fo'ys"k.k ds dkj.k ;g lcls 
mfpr fodYi gS A

142.	 fodYi (1) mfpr gSA
O;k[;kµNk=ksa dks Hkk"kk lh[kus esa çksRlkfgr 
djus ls muesa ml Hkk"kk ds çfr #fp c<+rh 
gSA tc os fdlh Hkk"kk dks lh[kus esa #fp j[krs 
gSa] vkSj mldk vius thou esa lkFkZd lEcU/k 
ns[krs gSa] rks os Hkk"kk lh[kus ds fy, tksf[ke 
mBkuk 'kq: dj nsrs gSa] ftlls mUgsa bls rstÛh 
ls lh[kus esa enn feyrh gSA çksRlkgu feyus 
ij cPps çHkko'kkyh rjhds ls Hkk"kk lh[krs gSaA

143.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk n{krk ekuo vius fopkjksa dk 
vknku çnku lqudj] cksydj] i<+dj vkSj 
fy[kdj djrk gS] Hkk"kk ls lEcfU/kr bu 
pkjksa çfØ;kvksa dks ç;ksx djus dh {kerk gh 
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Hkk"kk n{krk dgykrh gSA lquuk] cksyuk] i<+uk] 
rFkk fy[kuk] ;s lHkh dkS'ky ,d nwljs ls 
vUr% lEcfU/kr gksrs gSa] rFkk ekuo esa Hkk"kkbZ  
fodkl dks foLrkj nsrs gSaA

144.	 fodYi (1) mfpr gSA
O;k[;kµ^jh;fy;k* ;k okLrfod lkexzh & 
vfèkxe dks lgt cukus ds fy, tc okLr-
fod oLrqvksa dh enn yh tkrh gS] rks mu 
bl fØ;kfof/k dks okLrfod lkexzh mixe 
dgrs gSaA LFkwy oLrqvksa ds lk{kkr lEidZ esa 
vkdj ckyd ikB dks vPNh rjg le>rk 
gS vkSj lw{e fpUru dh vksj vxzlj gksrk 
gSA okLrfod lkexzh & okLrfod lkexzh Hkh 
lgk;d n`'; lk/ku gSA v/;kid okLrfod 
oLrqvksa ds ek/;e ls f'k{kkfFkZ;ksa dks fl[kkus 
dk ç;kl dj jgs gSaA

145.	 fodYi (2) mfpr gSA
O;k[;kµjktw] fo|ky; tkus okyk vius 
ifjokj dk igyk lnL; gSA blfy, mls 
ifjokj ds çFke ih<+h ds f'k{kkFkhZ ds :i esa 
tkuk tk,xkA

146.	 fodYi (2) mfpr gSA
O;k[;kµf'k{kkFkhZ tc tksM+ksa ;k lewgksa esa 
,d lkFk feydj leL;k&lek/kku ij dk;Z 
djrs gSa] rks mUgsa dqN ,sls fcanq feyrs gSa 
tks mUgsa O;fäxr :i ls fpafrr djrk gSaA 
blls f'k{kkfFkZ;ksa esa lh[kus dh çsj.kk feyrh 
gS tks le>us vkSj le>s tkus dh bPNk ls 
mRiUu gksrh gSA ;g mudh laçs"k.kkRed {kerk 

dk fodkl djrk gSA blesa ekSf[kd ys[ku] 
iBu vkSj Jo.k {kerk Hkh 'kkfey gksrh gSA 
laçs"k.kkRed Hkk"kk f'k{k.k ppkZ ds ek/;e ls 
leL;k&lek/kku djrk gSA

147.	 fodYi (1) mfpr gSA
O;k[;kµlaçs"k.kkRed Hkk"kk f'k{k.k ppkZ ds 
ek/;e ls leL;k&lek/kku djrk gSA tc 
f'k{kkfFkZ;ksa us foKku vkSj lkekftd foKku 
dh d{kkvksa esa i<+s x, Kku ij ppkZ dh rc 
mUgsa vius }kjk ^ty* ij fy[ks tkus okys 
vuqPNsn ds fy, egÙoiw.kZ fcanq feysA

148.	 fodYi (3) mfpr gSA
O;k[;kµikBîØe vuqdwyu ,d 'kSf{kd 
çfØ;k gS ftlesa Nk=ksa dh fofo/k 
vko';drkvksa] {kerkvksa] vkSj lh[kus dh 'kSyh 
dks /;ku esa j[krs gq, ikBîØe dks lek;ksftr 
;k ifjofrZr fd;k tkrk gSA bldk mís'; lHkh 
Nk=ksa dks vf/kd çHkkoh vkSj lekos'kh f'k{kk 
çnku djuk gSA ikBîØe vuqdwyu fo'ks"k :i 
ls mu Nk=ksa ds fy, egÙoiw.kZ gS tks fo'ks"k 
'kSf{kd vko';drkvksa okys gksrs gSa] tSls fd 
fodykaxrk] Hkk"kk dh ck/kk,¡] ;k vU; O;fäxr 
leL;k,¡A lh[kus dh {kerk dks /;ku esa j[krs 
gq, dfBu Hkk"kk dks ljy cukdj v/;kid 
}kjk fo"k;oLrq dk vuqdwyu fd;k tk jgk gSA

149.	 fodYi (3) mfpr gSA
O;k[;kµçFke Hkk"kk fdlh O;fä dh ekr`Hkk"kk 
;k ewy Hkk"kk gksrh gS] tcfd f}rh; Hkk"kk og 
Hkk"kk gksrh gS] ftls O;fä ml Hkk"kk ds ewy 

oäk ds lkFk laokn djus ds fy, lh[krk gSA 
igyh Hkk"kk ,d lgt ço`fÙk dh rjg gksrh gS 
tks tUe ls gh 'kq: gks tkrh gSA nwljh Hkk"kk 
O;fä dh futh ilan gksrh gSA dksbZ O;fä 
viuh igyh Hkk"kk r; ugha dj ldrkA ;g 
mls fojklr@fojklr@tUefl¼ vf/kdkj ds 
:i esa feyrh gSA ,d fganh Hkk"kh xk¡o esa ikyu 
iks"k.k gksus ds dkj.k çFke Hkk"kk dk ntkZ fganh 
dks gh fn;k tk,xkA

150.	 fodYi (3) mfpr gSA
O;k[;kµVkWi&Mkmu mikxe (Top-Down 
Approach) ,d 'kSf{kd n`f"Vdks.k gSA 
ftlesa igys O;kid ;k lkekU; tkudkjh 
fl[kkbZ tkrh gS vkSj fQj /khjs&/khjs fof'k"V 
;k foLr`r tkudkjh ij /;ku dsafær fd;k 
tkrk gSA çkbejh f'k{kk esa bl mikxe dk 
mi;ksx dj ikBîiqLrd dh 'kq#vkr f'k'kq 
xhr] rFkk fp= dFkkvksa ls dh tkrh gS vkSj 
ckn esa o.kZekyk fl[kkbZ tkrh gSA ;g mikxe 
cPpksa ds lh[kus ds fy, egÙoiw.kZ gS] D;ksafd 
;g mUgsa fo"k; dh lexz le> çkIr djus esa 
enn djrk gSA


